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Answer key

EXERCISES

A 1 opened the window \
2 feels soft
3 sounds good
4 don’t know you

B 1 Iread all of the Harry Potter series.
2 Jogging is good for you.
3 The kid looked scared.

C 1 The dog bit the man.
2 The (air)plane landed safely.
3 Two cops arrived at the scene.
4 That cake looks delicious.

D » Example answers
1 The cat chases (after) the mouse.
L 2 My feet smell (terrible). )
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EXERCISES

A 1 Don’t 2Be 3dont 4 Let’s \

B 1 Be quietin the library.
2 Don’t be rude.
3 Don’t lie to me.
4 Let’s go to school together.

C 1 Don’t forget your car key.
2 Pass me the salt, please./Please pass me the
salt.
3 Don’t be cruel (to me).
4 Let’s move forward.

D » Example answers
1 No parking.
L 2 Do not[Don’t] ride your bicycle here. )
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UNIT 3 EXERCISES

' A 1isn’tit 2Yes 3will 4shall \

B 1 Who can tell your fortune?
2 Didn’t you see me yesterday?
3 Who knows his own future?

C 1 A:lIsn’t she lovely?
B: Yes, sheis.
2 How should | know?
3 The shop isn’t open on Saturdays, is it?
4 You like classical music, don’t you?

D » Example answers
1 Why should I care?

L 2 What’s the use of trying? )
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B 1 How high is the mountain?
2 How many books do you have?
3 How far is the stadium from here?
4 How long have you lived in Korea?

C 1 How many people came to the party?
2 How often do you take the medicine?
3 How much money is left?

D » Example answers
1 How big is Jejudo?
2 How many people live[are] there in Jejudo?
3 How high is Mount Halla?
L 4 How many Ole Routes are there in Jejudo?
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! A 1 What 2Whose 3 Which 4 Which |

B 1 Whose was the best idea?/Whose idea was the
best?
2 Which video did you watch?
3 Which of them do you like best?
4 Whose is that bag?/Whose bag is that?

C 1 Whose brother is he?
2 Which member of the girl group do you like best?
3 Which do you like better, cats or dogs?
4 Whose is this shirt? / Whose shirt is this?

D » Example answers
1 What grade are you in?
2 Which school do you go to?
3 Whose class are you in?
i 4 Which do you like better, math or English? i
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3 ifshe likes 4 the train leaves

B 1 iffwhether] | locked the door
2 who came to the scene
3 how many people know that
4 ifflwhether] she has seen that movie

C 1 Tell me when the final exam is.
2 | don’t remember iffwhether] | turned off the gas.
3 Do you know if[whether] she passed the exam?
4 | don’t know where | put my cellphone.

D » Example answers
1 how often you visit online shopping malls
2 which shopping site you like best
3 if[whether] you pay in cash or by a credit card
4 ifflwhether] you prefer online shopping to offline
i shopping i
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B You’d better quit smoking
C

1 I’d better not.
2 You’d better not do
3 If | were you

D » Example answers
1 You’d better cut down on playing games.
2 You should consult an expert about the
| addiction. i
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At 2ds 1%

B 1 Playing Starcraft is fun.
2 Nicole speaks English, doesn’t she?
3 Look, but don’t touch it.
4 if you need help.
5 where he is from.

C 1 No,ldon’t. 2 can’tyou? 3 Yes,itwas.
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4 isn’the? 5 shall we?

D 1 don’tyou—do you
2 Be not —Don’t be
3o Eegls
4 am | —lam[I’'m]

5 What — Which

E 1 |strongly advise you to see the movie.
2 Can | ask your advice on applying to a college?
3 If I were you, | would give it one more try.
4 You had better go home before the rain starts.
5 You ought to be able to read this book.

F 1 Sheismarried, isn’t she?
2 Which switch should | press?
3 Let’s not[Don’t let’s] talk about it.
4 How long is the Han River?

l 5 1 wonder how Korea beat England. i
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! A 1are 2there 3was 4 Arethere !
B 1 Were there any phone calls for me?
2 There are a lot of books in the library.
3 There is a time for everything.
4 Are there any questions about this?

C 1 Thereis no doubt about it.
2 |s there any food in the fridge?



3 There are a lot of nice beaches in Jejudo.
4 There were some errors in the report.

D » Example answers
1 There is a cat under the car.

| 2 Thereisasuitcase in the trunk. i
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| A 1 standsatree |

2 you go
3 is your opportunity

B 1 There exists a problem with the plan.
2 There she is on the left.
3 There remains the problem of finance.

C 1 There goes our homeroom teacher.

2 Here | am all alone./I’m here all alone.
3 Here comes our guest.
4 There came a turning point of[in] my life.

D » Example answers
1 Here comes the school bus.
i 2 Here is a recipe for cupcakes. i
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! A1 How 2 What 3 What |

B 1 How wise she is!
2 What a dreadful mistake it was!
3 How sweet he is!
4 What an amazing idea that is!

C 1 What a foolish thing it was!
2 What good advice it is!
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3 How shocking the news was!

D » Example answers
1 How cold it is!
2 What terrible weather (it is!)/How terrible the

i weather is! i
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P

' A 1such 2so

EXERCISES

3 sucha 4 such |

B 1 Heissokind!
2 Heis such a rude man.
3 The movie was so scary./It was such a scary
movie.
4 That is such a beautiful house.
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C 1 such good news!
2 was such horrible behavior.
3 was such a funny movie that | kept laughing.
4 was so hot that | slept all day.

D » Example answers
1 He looks so lonely.
2 |t’s such a gloomy painting.
3 It’s such a blank expression./It’s so blank an
i expression. i
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B 1 She grew impatient.



2 The runner looked tired.
3 The leaves turned brown.

C 1 Theroses smell sweet.
2 The salad tasted fresh.
3 His proposal sounds unrealistic.

D » Example answers
1 Her voice (over the phone) sounds[sounded]
harsh.

i 2 The lemon tastes[tasted] sour. i

>

SHA » 1 feel guilty ZIRZHS =7|Ch 2 taste ~$F St0| LICE 3 sound ~
A S2ict

op

Al

M1 % HAZS A 2 7 v & o] e 3 1
gote R A1y Sk

sl » 1 grow= "~ ElCi2ts K2 MU 0ff Fof HEBAE 202 F
STk 2 look0| ‘"~ EO|Ci2ts o2 MU I HEAE HOIZ FSiCh
3 turn2 "~alA| HalClehs K2 MU I HOZ AUt 2Lt

si4 > 1 U 2SR 2 7 Rk vz Bt 8 U
Q5o o2 vl

C

sH& » 1~ feel, smell, sound, taste, look, turn CHS0| 2= {71 2EALK
& M=o = FEA} 2tof sH= Aol F2lstct,

D

s » 1 sound ~otA| S2ICt 2 taste ~&t 3t0] LTt

vy

siA > 1 (AEHgollA) 149 &
2 7 &8 Algto] YT,

gle FEAA SRTERH].
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! A 1 wrote that song |
2 singing the song
3 discuss
4 marry

B 1 He doesn’t like big cities.
2 | decided to leave.

3 She started laughing.
4 | know that he did it.

C 1 She hates the windbreaker.
2 The bully hit Jim.
3 I quit playing the online game.
4 Do you think (that) he’s right?

D » Example answers
a. The dog slaps the cat’s face.

i b. The cat slaps the dog’s face. i

s » 1 that song2 wrote2| 2X0Z wroteQ| F0il {|XIStCE 2 singing
the songO| started®| SEZ MRACL 3 discussE ATEFSAIZ A XA
7t 2RQICh 4 marrys RIESAIR A MR ELSICE

si40 > 1 Elvist 1 =8 Aok 2 JuE =S $27] A
. 399 2 FA] s} B2 A olg? 4 s a9 A4E
2 o,

et

B

54 » 1 big cities7} like2] 2X0{0|2 2 like Fofl IXISIC}, 2 decided2l
ZRHZAM toRE™HAT MACt 3 started?] 2X|ZA SHA laughingO|
MACE 4 that he did it0] know2| 2X|XZ MYLCE
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! A 1inrelationto 2 concerning |

3 relatedto 4 Regarding
5 relating to
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B | have a complaint to make concerning my order.

C 1 Payincreases are related to productivity.
2 Japan has nothing to say regarding Dokdo.

D » Example answers
1 | have a complaint concerningfregarding,
relating to] some abusers of this site.
2 | have a complaint to make relating to
i [concerning, regarding] some ads on this site. i

s » 1 in relation to ~2 #2504 2 concerning ~0il 5t 3 be
related to ~2 20| ACH 4 regarding ~0il &5t 5 relating to ~0i|
250 comment =%, Ag

il » 1 aLef9] = ol vlsf 2l 2 152 Tl ugof
sfof e RS Hrk 3 FA o FHo| AEw Aot B
Zojetal Wit} 4 Uo] AR} PRste] oA olWde Bl
t}, 5 o] Ao st & o] QIFU7Y

B

54 » have a complaint =& SICt concerning ~0i| 25+

a4 » AofBts Tl

A= A9 FE3 WRste] Eyko] JFU AVt HAZE A=

g, ol U sk e B Asyh AR
Pat Varney

C
S » 1 be related to ~2F 20| QUC ~2F HAZ JACt 2 regarding
~0f &5to]

D

aiA » 1 concemning ~0i CHGI| 2 relating to ~2F &3t have a
complaint to make £2t0| Act

TEST 2 UNIT 08~14
. _

lA1b 2d 3e 4a 5¢ 1

B 1 Here comes the airport limousine.
2 The milk in the fridge tasted sour.
3 There is going to be a typhoon.
4 She spoke so quietly that | couldn’t hear her.

C 1 She felt guilty.

10 | Answer key

2 Let’s discuss the matter.

3 There you go./There you are.
4 Pink becomes you.

5 Here we are.

D 1 married to — married
2 badly — bad
3 How a— How
4 sucha—such

= = o
5 ERIEE QS

E 1 | have several comments to make relating the
policy.
2 There is some confusion concerning copyrights.
3 The human brain is large in relation to the rest of
the body.
4 | have a question regarding your job experience.

F 1 | have a cold, and my throat feels sore.
2 I’'m frightened, so | look pale.
3 I didn’t wash my hair, so it smells foul.

i 4 | lifted heavy things, so my arms feel sore. i
\ 7/
A

s » 1 "such +a+ A+ HALL| O] RIS 2 alot of ~= B
202k Loz M M £ Q= MolE manyZ, M £ S AolE
muchZ HHY & 4= QIct 3 There isfare] ~2| TL20|A beSAt= Foil Lt
2 Aol 0] 2lsh ZMEICE 4 smell2 '~ AT} Licfahs Loz o
SAIE 202 F[Sict 5 whatQ2 AESHE ZEE2 "what a+ HE
Ab+ A+ 30| + SALL| OiES ZH=Ch

atial » 1 A 3PS dolr), 2 W2 ARRFEC| A8TIES &t
3 1 vjee] ‘AL ot 4 1 e o drh 511

4 A HAT AIR]!

B

& » 1 here Ct22| 017} HAIRl ZR0l= Here + SAH+ F01,9] O
S Z[sich 2 taste= ‘~5t BHO| LICIEHS 02 SHEALE HOZ Z[5iCt
3 There is/are ~,2| LECE ‘~J} QCFEt= SE0IH|, 77+ O2HE LIE}
W ASBZ be going tol| FES AIZsiCh 4 Tso+ AR
Ab+that + 380f + can't + SAk= R ~aiA & 4= giCke| SLolck

sl » 1 feel® '~o Lythets RO2 HEAE E0Z Fgich



2 discuss= HTELSAIOIZE HMX|A} abouts Z0| AHZSHX| REE F9|
St 3 There you go. EE= There you are.= 271 52 714 f A= ESH
OZ ‘07| AoiR.’2t= Eolch 4 suite ‘~7t Of22|cfeteE ez
become2 2 HIH £ 2= QL 5 Here we are= ‘22| 2RI ’2H= ££0|

c.

s4 > 1 IUE HAghe LAt 2 2 BAl s 22aA;
3 947 9lol. 4 BFAo] Yol o}ge, 5 92) =AY,

D

A » 1 marry= YTELSAIO|E 2 HMXIAE MX| HEE ST 2 sound
= '~oP S2ltiele o= HEAIE HOZ FSICL 3 howz AlRSHs
ZEHZO| 022 Thow + SHEAL+ F0| + SALO|H, what@ 2 A|EtSH= ZHE
29| 022 Twhat +a/an + H2AH+ 30| + SALO[CEL ES6IK| LY== F
olstct 4 o] people2 S+ FFoI2E aS AX[GHOF 2Lt cf. peopleO]
DIZo| £l = T4 FIFSICE 5 F07F HAFFO|ZR There + SAL2)
oS F& 4 Utk

A1 » 1 Julies HEalel 258 )k 2 19| k= E3)51
gt 3 HAAZE A ZAYo]l 4 o7 Hpdo AHul =
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m

5l » 1 relating the policy: H&1t 2245t0 2 concerning copyrights X
ZtHTF 225104 3 in relation to the rest of the body: AlX|Q| LIHX| £&
ofl HISH 4 regarding your job experience: EA19] ZIEF Zi=of| 25104

F

& » 1 feel ~otA =7ICt have a cold Z7|0f| Zz2|Ct sore M7+, OFE

2 look ~&A| £0|C} be frightened 2EZZ L7J|C} pale ZHEHSH 3 smell ~

St EHAZE LICH foul 2AF7F LiE 4 feel@ ‘~5| =7IClets o2 §&
AE HO{Z st
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I A 1 herthe mail |

2 you the way
3 him
4 apresent

B 1 | boughta computer for her.
2 He gave me his phone number.
3 Can you bring me an umbrella?
4 She told me the whole story.

C 1 She made me spaghetti./She made spaghetti for
me.
2 Don’t lend your friend money./Don’t lend money

to your friend.
3 I'll show you my new cellphone./I’ll show my
new cellphone to you.

D » Example answers
1 She teaches the elderly English./She teaches
English to the edlerly.
2 He hands her a slip of paper./He hands a slip of

i paper to her. i

34 > 1 Lhs Tl WY Bt 2 A 28 deisein
Utk 8 1ei el AAE A 4 Hanyis Ronol A%
2 o,

B
S > 1 20ISAPE 291 2E0IA ZHE2 0| Yofl HRIME 2 B0l
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2 told
3 that restaurant to you
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4 the bags for me

B 1 He suggested a good dentist to me.
2 ’ll show you my house.
3 She explained the cause of the accident to us.
4 Tell me your intentions.

C 1 Rob carried her suitcase for her.
2 | recommended the garlic chicken to them.
3 She described the thief to the police.

D » Example answers
1 He pushes the cart for her.
i 2 Einstein explains his theory to the scientists. i

| 7
A

SiA » 1, 3~4 explain(EHE3ICH, recommend(EX5IC, carry(LI2L}) S
2 S0{SAIZt obdoll Folsict math ZIHSHENE £ 42 2= Hol

THXIA+ HALSE M ECL 2 me(Z-EZSE0)7t the reason(EEHSH0])
X[gt Ho 2 ot +HSAIS Mok it
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TO{SAto|Ct,

M1 e HolAl 2 ARE skt A3tk 2 HellAl $-2i
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wollAl vef =g waf 7.
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A » 1 carry= £0{SAL OILZE her A0 FX|AF forE 20t 2
recommende= £=0SAZ} OF|2 2 them 40l toE 2Lt 3 describes £
O{SAPZL ORLICE [m2tA] the police AON ‘~OlIAI'Q| 5221 TXIAL toE M &
Ch.
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S \
I A 1 withweapons 2 with food |

3 of 4 ofbad habits

B 1 We provided the guests with drinks.
2 They presented him with first prize.
3 Her voice reminds me of my mother.
4 The dictator deprived people of their freedom.

C 1 reminds me of my first love
2 supplies the city with electricity/supplies
electricity to the city
3 emptied the room of all the furniture
4 provide their children with food, clothing, and
shelter/provide food, clothing, and shelter for
their children

D » Example answers
1 presented the boy with an award
i 2 robbed the bank of money i

A » 1 supply A with B: A0|Hl BE Z33ICH (=supply B to A)
2 provide A with B: A0|A| BE MIZ3ICH= provide B for A) 3 rob A of B
CAOIAIM BE =SZI5H0E 4 rid A of B - AX|IAIA BE glolct

a4 > 1 TS ZASA 212 3
A S4& AUt 8 ==o] 1 ol
3_4 1,]—__ E_Q_ o%ol-\r;]..

B

ll& » 1 provide A with B: A0I7i| BE HMIB3SICH 2 present A with B: A0l
7l BE FLt 3 remind A of B : A0IZIA BE 7I2Li7| SHEH 4 deprive A
of B : A0l BE BiEtSICH

S 2 W 250
A B4

S8 > 1 el RASO SR4E AU, 2 25 2017
ke itk 8 o] Bl ololUg Az B 41
SRR ARSI 255 okttt

C

514 » 1 remind A of B : ACIZIA BE 7ILA| SICt 2 supply A with B:
A0|H BE Z23ICt (=supply B to A) 3 empty A of B : A0|IZHA BE glo}
H|Ct 4 provide A with B: A0lI7{| BE MIE3tCH= provide B for A)

D

514 » 1 present A with B = present B to A : A0IA| BE FLt award (M2
50| UE) A 2710b A of B : AUIAIM BE =S RGITHAESICH
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4> 1 e T2 2dofAl e 00T 2 BHE 3 AREe] 2
A == A
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! A 1 chairperson 2 me |

3 angry 4 the best book

B 1 She drives me crazy.
2 The song makes me sad.
3 The news made me very happy.

C 1 We elected Mike class president.
2 He regards his job as the most important thing in
his life.
3 P’ll paint the room pink.

D » Example answers
1 Don’t call me a liar.
i 2 | elected you captain. i

S » 1 R0+ SAH+ 2R + SHZHE,Q| HElZA SHRALTL F
Atel AL0ICE 2 insane2 me?l| SXZAHOO|CE, 3 RAts SXAENR
MO|X| Y=Lt 4 2XZAL0|Z the best book(BANO| MHLCE

s4 s 1 S TS ogo s AEU 2 W At 4B
v Gk 3 199 We S sl Ak 4 O oA A
we) Mo ofirt,

B

Sid » SXHE0Q SX0= Q0422 SZ40| &|0{0F SiCk.

1 me = crazy2| 2|0|o|Ct, &, me7} crazy EICH= 55, 2 me = sad?| 2|O|
olct, =, me7t sad SiCH= £, 3 me = very happy2| 2l0|Ct & meZt

very happy SiCh= &=

a4 » 1 2= UE uAA $ch 2 1 k=
3 71 &4l Y-S ule- 7|mA ok

uE ez ek
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S » 1 MikeZt 2X010|12, class president= 2XMZ4AE0{0|Ct 2 regard
= SHAHN Yol asE 2Lt regard A as B: AZ B2 §7|cl. 3 the
roomO0| 2X{0{0|12, pinke 2XZL0{o|Ct,

D
Al p 2HAHNE & 4 Y=

ZAHO|E HAIS MX| Y2 =0

XY
o

AL SEAL 2HAL S0| ATt =5
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o

SAL > 1 U ASAolE — g AZuAgeleta A uf
2 A7k 34 SRR — 7k RIS RO BWekol,

T —_— \
! A 1help 2tojoin 3 calling |
B 1 |had him bring the book here.
2 He told her to come in.
3 | heard a dog barking.

C 1 The movie made me cry.
2 | asked her to marry me.
3 The doctor advised him to stop drinking.

D » Example answers
1 | saw her cheating on the exam.
i 2 | ordered the soldiers to charge. i

— J
A
A » 1 AtHSAL let, have, make S0| & ZR0| SAIZ M0l SHZAH

A1 b =

= HIRTEALE 201 2 YHESAY f MOl 2EOM= %’5*.7—1301% toFd
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14 » 1 haveZl AISSAIOIERZ SXHZLHNZ ASFIEHAIL 20}
2 toldis YESA0|2 2 SXMZHAE0Z o2 FHAIE 20t 3 heard7t x2S
AHO|T, a dog2 barkQ| 558 FX|0|2 2 SHAHEAL barkingS 2Lt

A » 1 "H—:‘ 10“7‘“ e o:]7]§ 7].;(]31_ oA §EE} 2 7=
YollA| Sol et Wt 3 Ul A7t A= AL E9ic)
C

SHA » 1 AIESAL have 2= makeE AMESICE 2 aske UEESAIO|EZ2
EXMALENZ toR™YAISE AFESICE 3 advises YEISAIO|EZ SXZAEN
Z toFHAIE ALY, drinking2 stop2| SZ0{0]C}

D

A » 1 her?t cheate| A7t s=9| 24
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! A 1up 2 longstory 3 put |

4 summary 5 nutshell

B I’ll summarize my presentation. / I’d like to sum up
my presentation.

C 1 To sum up, it’s a win-win game.
2 The situation, in a nutshell, isamess. /Ina
nutshell, the situation is a mess.
3 To make a long story short, the story has a
happy ending.

D » Example answers
1 To sum up, the plot was loose.
2 |n a nutshell, the soundtrack was better than the
movie itself.
3 To make a long story short, the ending was

i pretty obvious. I

A » 1 to sum up L2ASHKIH[=IN summary] 2 to makelcut] a long
story short= ‘7l 0|0F7|E HA £0|XtHO0[2k= S0IH a long storyet
short= 2012t 2XZ=0{o| &Ao|ct 3 To put it in a nutshell ZH3]
UM 4 in summary Q2USIAIH (=to sum up) 5 to put it in a
nutshell(ZFEts] ZaiA)0IAM to put itS A4Fst 2rolct,

siad » 1 goFst, IS 1 wAlel thgt 7R ol
2 QofspAbd, $-2= 1Y glo] wWylth 3 (tds] &
=olok 4 sty FARIES AdgAoldleh 5 tds] Tk,
I AL Aufok,

SHA » to sum up LUSIKHH summarize L2F5HCH

a4 » 92 BIARS 917lol AU ol s e Eof
A, vlge 345 S REUTh-
HES okshfiaUT el u8-S Zolm wul Selo g
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1A » 1 to sum up 22USIKIH 2 in a nutshell &t OC|2, ZHEHS| 21

14 | Answerkey

sl

oh

3 to make a long story short Q&2+ LSERHH, ZH:t
D

54 » To sum up, In a nutshell, To make a long story short S& £AH
2 MA G2 it

TEST 3 UNIT 15~20
pu _ _
4b 5a }

I A1c 2d 3e
B 1 He described the missing dog to me.
2 She robbed him of his wallet.
3 The U.N. provides the refugees with shelter.
4 Canyou keep it secret?
5 We chose Sean as class president.

C 1 Don’ttell anybody the secret.
2 Could you get me some strawberries?
3 The hotel provides guests with a wake-up call
service

4 I’'m going to send you an email.
5 They supplied homeless people with some food.

D 1 to explain —explain
2 his—of his
3ELRREYUS
4 toE A
5 toE Al

E 1 To sum up[In summary], Koreans are a hot-
tempered people.
2 To cut a long story short, she was found

innocent.

3 In a nutshell, there is no such thing as a free
lunch.

4 1t is more difficult to summarize a text than make
it longer.

5 To make a long story short[To cut a long story
short], the manager decided to stay in the team.

F 1 teaches Korean to people from abroad./teaches
people from abroad Korean
H 2 carries her package for her j

A

s » 1 50| + SAH+ I HO| + 2B =H0{ 2] 2FOICE 2 rob A of



B: AOIHIAN BE ESX|CHAESICH 3 provide A with B: A0A| BE MIZ3ICH
4 |et0| MHSAIO|2E SXAHNE SAHAS0| 2R5ICE 6 explain®
OIESAPL Ot |22 ~of|A 0l s ot XA BEstc

4 > 1 Y oA W des 2ty 2 3799 @A 2 4
& SHW 8 1 Ie vk AREEA 28 AleRith
WS wef E78. 5 e I 2AlE SElolA ARk

ol
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41 » 1 descrioe A to B: A BE AZ(ZAPSICH 2 rob A of B: A0
X BZ EZx|ct 3 provide A with B: ACIA| BE H|Z5ICH 4 A} secret
ol 2XZARO00IC}t, 5 as ~2

a4 » 1 = Lol Al goteid Aol s ARk 2 v 0]
AR S SAh 3 UNZ dlsolA o3 AE Algdch
4 v HEE A = 34?5 98 Seang WO B AE3]
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C.

SHA » 1, 2 ZEE=EX07L 2I”SE0] Aol RS e TXIANE =S
StCh, 3 provide A for B: BOIA| AS HIZSICH (=provide A with B)
4 youZt ZHEEX0Y Z0l= AHESH ol £ HXIAE Qbch 5

supply A with B = supply B to A: A0|A| BS 255}iC}

aiiAl > 1 oAl 1 B wekA] miet 2 yollA B7)E 7t
AFAY? 3 12U uAEoA HYE AHAE AlgRIth
4 Y= volA omde e 7ok 5 I52 kAol 54
= A3

D
S » 1 let0] ANHSAO|22 SXZEHOZ AHEH A explain/E £Ct
2 deprive A of B: AIAIM BE t{ICH 3 regard A as B: AZ B2 O§7|Ct
4 provide A with B: A0|A| BE HM|Z35ICt TR0 + SAL+ =2 E0 + &

H=H0 0l M= 2ESE0] ol TXIAZE QT

si41 > 1 U7k RS vl el 2. 2 FRE elAA )
Aelg mokgktt 3 s T AL ofFAR ol 4 1
A WEE ARSI 24 ABAT 5 U oA BE
£2

E

SHA » 1 to sum up 26HH 2 to cut a long story short %A ZSHH,
2k5HA ZSIAFH 3 in a nutshell ZHEs| 25HH, of oCjlz &

=]
=
4 summarize 22F5HCH 5 to make a long story short 2&BH 25EXFH
F
SHA » 1 R0 + SAH+ ZHESE0] + S H0, B T+ SAH+ EH
=
ES

SH0| + TR+ ZEESH01.0] FAE Fleitt 2 carry= +0{SAPL OF
+

=
LIDE 70| + SAH+ 2B E0] + BHR0|,0] HACEE 2 4 gk

I'e

! A 1reached 2 arrivein 3 Lay |

B 1 Layyour keys on the table. / On the table lay
your keys.
2 The noise woke the children.
3 When did you arrive at the camp?

C 1 |rise early every morning.
2 What time does the bank close?
3 The door closed of itself.

D » Example answers
1 lay down on the grass.
i 2 raised his hand to stop traffic. i

sHA » 1 arrived?} 20| E|7| fIGHAME XA ZRSICE WA EFSAFRI
reached’?t 2Lt 2 arrive= XtSAO|E2 SHUE Fol7| fleiA= TX|
APFZR5tCL arrive in ~0f =&fSiCH 3 SH0{7t 2R A2 EFSAto|CE

lie Lt lay ~2 =Ct

Si4 > 1 92 1 Qlele] Teyle] mach 2 2k ool 4%
o =23 Zolth. 3 e 9o MBS Lelpolet

B

A » 1 lay= EFSAIO|T your keysZt 2X0{0|Ct on the tableE 2% A
H2|of| s ZX5H= =7t 2ot 2 wakee OJ7|M EFSAIZ M1 =2
0= the childrenO|Ct 3 arrive= AISAIO|EZ2 SX0E FloH7| {sHA

= XA ERs|Tt

S5 > 1 U] Q4Z S 9lo] olel 2 £go] ofolE2 7
oF (48 o] ofo]Eo] Zict) 3 Ui QA oklel mHel?

C

1A » 1 rise= AFSAIO|ZE2 2X0{7F LRQICE 2 closes= AFSAIRE M
0|11 EFSAIRE MOICE 3 EX0{7} g B R XISAIE LIEHHTE

D

5HA » 1 lie Lt lie - lay - lain 2 raise ~2& S2IC} ¢f, rise LECt 2217}
Ct traffic WS(H), AES
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EXERCISES

A 1 hear 2 Look 3 toyou w

B 1 What are you looking for?
2 The company pays its employees well.
3 Don’t laugh at me.

C 1 Who are you waiting for?
2 My friend and | talked about our future.
3 Dokdo belongs to Korea.

D » Example answers
1 | heard her talking to herself.

L 2 | spoke to a native speaker of English. J

A
sHA » 1 listen2 FXIAIE ERZ STt heare ~5
olct, 2 look at ~& HCt 3 talk to ~Of|A| LstCt

=Cfehs Kol EtSAL

siat> 1 U 7 5217 2 4 S Bl 3 Rt o712 4 9
AU?
B

si& » 1 look for ~2 ZCh 2 Tpay + AlE, ~07 =2 XISstct
3 laugh at ~& =E3|Ct ~Z HIRCt

Al » 1 UE oS 2k QY? 2 I At FUYEA B
| 3

a4 » 1 wait for ~2 7|Ci2lct 2 talk about ~0f CHal Ol0t7|5tCt
3 belong to ~0i| &35tCt

D

514 » 1 herself(REFCHHAD= talking toQ] EX0{0|CH. talk to ~0f|7] s}
Ct 2 speak to ~Of|7| &S SICt

8 > 1 U 7} Eseke 3
RofA 22 ok

o

SUh 2 H= Yol o

EXERCISES

A 1 Sitdown 2on 3up W

B 1 Fill out this form, please.
2 Never give it up.

16 | Answer key

3 Why don’t you try it on?

C 1 Put down the knife./Put the knife down.
2 Did we grow up, or (did we) grow old?
3 The plane took off at three and landed at six.

D » Example answers
1 She put on some makeup./She put some
makeup on.
L 2 She picked up the bill./She picked the bill up. J

A

A » 1 sit down CH 2 put on (2, oA S2) Lt 235 3 look
up (A S0llM) SHojLt HEE S} of. ook for (274 58) 3T} look at ~
£ 2ot

s e 1 B
Zof| A Zrof}
B

sHA » 1 fill out MFOl 7IUSICH 2 give up "SAL+ B2ALL| EFEALTO|
D2 iBAL itS SAR! up 2ol YIXIAIZICE 3 try on2 "SAH+ 2ALS| Ef
SAIFO|2 2 HHAL it2 2AR! on 2ol IXIAIZIC

qoAa. 29 S A ghgkel? 3 %S A

a1 » 1 0] FAje] 719J3)
7 goiziiz 7 ofu?
C

54 » 1 put down LHE=CE 2 grow up A&SICH 3 take off O|FSICH
land ZE35ICt

AL, 2 AR 27)skA] v, 3 1

D

5l » 1 put on makeup 3HESICH 2 pick up ~2 &H, ~2 T SCH

41 » 1 U B o Atk 2 T AR ol S9ck

EXERCISES

Alc 2b 3d 4a W

B 1 The porter carries baggage all day.
2 | surfthe Internet for two hours a day.
3 Daniel doesn’t watch TV at all.
4 What time do you get up?

C 1 Jeff plays computer games on Saturdays.
2 | sweat when I’'m nervous.



3 She washes her clothes once a week.
4 The pilot flies every day.

D » Example answers
1 The sun doesn’t go around the earth. / The
earth goes around the sun.
2 The earth isn’t 2 million years old. / The earth is
i about 4.6 billion years old. i

SHA > 1~4 F0{7} 321 Eh4 SIXHHY ZR0l SAtoll -e)sS EQICt.

i > 1 AT oS BT, 2 B4
0.3 ESUAE SAE 9 BES EUY, 4 224E 4
"ol &4 S Rl

B

S » 1 XS +y,2 ELls 82 vE Ii2 HHD esE 220t 2 two
hours a dayOllAl a= per(~0ICh ~&)Q| £& Zh=Ct. 3 F0{7} 323 ¢
2 Mo BEYES UBSAte| HR, A0l doesn'tE £2CL 4 S| S

S= UER moll= JRHYES 2Lk

A e 1 71 AR BhF T HE NRITth 2 U= kRl 24
7 QIEYl NS gtk 8 Danield TVE 3] A3 o=
o 4 U= R Aol dojuhy?

C

SHE » 1~4 Ll XIS A MELt SRS LEH mioll= xS 2Lt

D

SHE » 1~2 SHO| ZI2|S LIET = e SRS 20t

140> 1 371 AR S ool A8 o Az, 4 o
He AT 4% A QRerk/ A} e 2918 £0 2300
NS A} 299 W ek Aze Bk AT 29
Vol 514 glalth, A7 oF d6o] W A Hsirk

ool

e
! A 1stop 2didnot 3 see 4 eat |

B 1 |suggested that he should think about the idea.
2 |t is necessary that we get together.
3 He recommended that we check the machines
every month.
4 It is important that there be no mistakes.

C 1 His uncle suggested (that) he get a job in a bank.
2 |tis essential (that) you have some experience.
3 She insists (that) she wrote the letter.

D » Example answers
1 Dokdo is Korean territory
i 2 the two Koreas (should) be reunited i

SHA » insistFASICE), require(275tC), demand(27-3ICH), suggest(MI2t
5tCh), recommend(EH3ICH, advise(E5IC) 2 SAPL thatdE 2XA
2 g thatHQ| LIE0| F{IE LIEIT thatRle| SAte SAIE™ES 2Lt
2 insist Ct22| thatde| LIE0]| “~aliof Strf2t= 520| ofL|, AtY BAIS

Y5h= A0|2=2 AlM| ERIE AlZICE

T IO A71E ek ek ik 2 e %
17] oRobTia AL 3 U 17 MEALE Tl Hgi
4% SEo) AUAAE S et
B

54 » It is necessary, It is important, It is essential S2| & CI20f| 2=

that 22| SAt= HoICh

i > 1 L o] 71 etel chef Zhe) mekn ARigle 2
Seli whEA] 3 slok aith. 3 Uz ol 1 71 BAd A
2 Yk 4 U452 3 o S| Fast

C

sH& » 1 suggest(MI2tatCh)o] SXEO| LIE0| l(~aHoF SHHOIH that
Ho| SA= /S AL} 2 Itis essential CH20]| that 20| 2 A0 that™
o SAtE golct 3 insist CH32| that &Q| LHE0| Thash AAS LIEHLH
B2 AME YXIAZICE

D

A » 1 SETt 50| FYEQI S AFMO|ZR that Ho| SAIE oz
MX| ph=Ct 2 SUO| £|0{0F St A2 YRI0IEZ thatHQ| SAk= B
g o

190 St ok golehn SRt 2 el £ )
ahato] EEofo Teka &7 akz vholt)

JQ,OI

'd
I A 1 amtaking 2 believe |
3 areyou doing 4 isrunning

B 1 Areyou stayingin a hotel?
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2 They are having a conversation.
3 My computer is not working.
4 Where are you going now?

C 1 I’'m looking for a present for my girlfriend.
2 The sommelier is smelling the wine.
3 The towel smells sweet.

D » Example answers
1 The cook is tasting the soup.
i 2 The soup tastes salty. i

>

54 » 1 right nowzgt= 20| e
HENE LELE Lo|2E XIS
‘@& o{EA| X|LHL|?'2t= 2lojef
off CHS! CHE= R o =2 st

a4 > 1 L A5 ARIE 3 gl Folof, 2 b He] e
o 3 9% of®A Au? - Fok Woke, 4 Susang 9 3
QU2 — s Bl Hellskar gl

siA » 1 =TE2
have 7ZIXICt2Hs 2l0jo| A
£ oichel SESAIZAM
CH20ll notS M ECL 4 Q2APL = 20| o222 "2t +bed
Ab+280f +-ing,2| Oi&S ZH=CL

isysiol oj2e

bedAtel 09| IXIE HFELL 2 O7|A]
SAP} OfL|2} have a conversation(CH&t
oL} 3 FIaHSio| HMBS peEA}

=| OM
TEEs £ BHEE2

s41 > 1 U A Sde] MET U7 2 1EL tetE st 9)
of. 3 AHE AFol ok W, 4 U= AF ofe] T glel?

C

SHA » 1 &0 Q= SX0| X|&5T QOO 2 XSS 20t 2 smell2 ¢
7IM ATt Lickak= S0l obLa "HAME 2Ch2h= JRolch 3 oi71M<2
smell2 "dM7t LiCh2h= AElE LIELHTT UCk

D

SA > 18 I REUPE NS BE WIS LD, 2 J-S Amo|
20| MCHs 22 LiEfh= JZolc,

A e 1 QEJAPE AXE SR T Qley 2 T AX= Rt
UNIT 27 EXERCISES
M == N\
! A 1beentold 2 As,as 3 aware |
4 far 5 hear

18 | Answer key

B 1 | know what
2 As, as | know
3 | have been told

C 1 faras|know, can’t afford the house
2 aware (that), not a new problem
3 running smoothly, what | hear

D » Example answers
1 | have been told (that) the actor is joining[going
to join] the army in September.
2 Asfar as | know, Mr. Kang is going to make a
comeback on TV soon.
i 3 They are going out from what | hear. i

>

34 » 1 | have been told: L= ~2t1 SRt 2 As far as | know: LH7t
AU7|2= 3 be aware of ~: ~2 LT Tt 4 As far as | can remember:
Li7t 7|99517|2= 5 | hear (that): Li7F £7|2= ~HCHED|

a4 » 1 Uiz Darcy7} ekl S0, YUe 52 4 dol? 2 Wit
Wr|2E, v I 4 H9 4474]7} ol BAI U= 1]7} AR
AZRe SR QA ok Br U AW vhgE om glef?
4 W7t 7lefsl7l=e 2ok s He uhd Hol glol. 5 Ui
Eddier} 23] gsck S0l 17 Ado]op?

B

SiA » 1 | know L= ~& QtCt cf. | knows 0|0] €11 Ql= A'S S5t
| seex= O|T7IX|= ZFXITH ‘O[x|oF Ykctet= 2Ol ZH1 Uch
2 as far as | know: Li7t 27|2&= 3 | have been told ~: L= ~2lT &
Qick

a4l » 1 Al U H7F A o8l 3 9 &1 9k B Y AlF
UE dufslhe AY? 2 Yt @712 43T o4t §lol. 3 U
= Jasono| gh=& Wy Aztal E310], EA 3] Wr|R|7} kol

C

54 » 1 can't afford ~& G{R7t BICt 2 be aware that ~: ~2 &1
Ct 3 from what | hear Li7} £ HIZ2E cf, 07X what2 MSAP} Zatg|
0f QU= EHACHEALO|CE,

0

D

A » 1 army 2 2 as far as | know L7t L7|2= 3 from what |
hear Li7t E7|12=



TEST 4 UNIT 21~27

'd N
I A 1 |want to take it off. i
2 She calls her parents every week. / Everyweek
she calls her parents.

3 The cat is sleeping on the couch. / On the couch
the cat is sleeping.

4 He recommends that | go to Canada.

B 1 They insist that aliens exist.
2 She says that Justin Bieber is the best singer.
3 | heard that sound travels in the air at a speed of
340 meters per second.
4 Ken says that he goes to bed at 12 every night.

C 1 He suggested that we go in his car.
2 He pointed at her over there.
3 Could you turn it off?

D 1 meat—atme
2 traveled — travels
3EURS

4 down it — it down

E 1 From what | hear, Bill gives a lot to charity.
2 Were you aware of the risk of the game
addiction?
3 Asfar as | know, they are through. / They are
through as far as | know.
4 | have been told that she has helped the
orphans.

F example answers
1 She is tasting some pasta.
2 The package belongs to Ms. Brown.
3 The dog is smelling the pizza.

H 4 The cellphone is vibrating. i
\ J
A

SHAl » 1 take offe] SXOI2 CHHARL 23, (A= SAktake)2t SAKOf)
Afojoll X[ttt 2 Bxiel Yol e LT Mol AlXlE HXAIME
SiCt 3 RTINSOl HElE beSAL+-ng,0lck 4 recommend(FE 5t
Cl, Bsich) Ch32l thatel LiZ0| ~al{of Bittat= E9IE LIEIH thatE

o SAl= HYS 2.

SA0> 1 U IR I Ao], 2 Ty Rads) o dE
stk 3 1 ;oo At SlofA AL Gk 4 I U At
ool 2 22 Ak
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ol
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m>

» insist(FZSHCL), require(27SHCH, demand(27ESHCH, suggest(X|Qt
tCh, recommend(EHSICH, advise(EISICH S2| SAPE 2X0|2 thatX
Flot, that=o| LIS Al EIE LIEHHH, thatde] SAk= 012t 22t
O] SAFHHES 2Lt 1. insist S0 SAIC] 2XEZ MO thatEo| SAH=
Ot 2 thatZe| SAts 2t AIM(O YXIAIF0F St 3 A2|7t 1
40mE ZIiCHs 22 9ol AMMOI2 2, FFO| AlR|Q} Altglo] Shat
2L} 4 i 12000 EXf2lol ECt= A Sixlel sHol2=2 §

ol
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>

mo 0% o Mo

L
s

i

2o Phoro g2 Mo
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odl

Ay 1 2L oA 0lo] ZABItin
Bieber7} JP«I ZhEeial Wikl 3 L}ﬁ
£ 7Ha E90tk 4 Kend i 1k 1

Astty 2 4+ Justin
a7 P1'7] ZollAl 1
2A]0) At el

(@]

S » 1 suggest(MIRtsiChet 22 SAt ChE2l thatdel SAt= |gS &
Cl. 2 point at2 "SAt+ FX|ALO|EE HAIS HHAIZ HIYE 1 02
HHHX| 94=Ct 3 turn off= "EAt+ 2ALOIEE FE{Q HAIE tHEAIR
HHE f CHEARS 2AF 20l KIXISHCL

st » 1 T ApAdS AR 7R AR 2 O
JUE 7HIFE 3 oloirlE AFAIRlel8?

Azl g

D

oilE » 1 look at2 "SAt+ TX|ALOI2Z FX|AF CHS0l =X{0{7} Li=2Ck
2 29| Ti2l= g RxHFS 220k 3 pick up the tab2 “~2| 22 X2
Cret= 2ojoct. 4 "SAt+ AL SAIS| S X017 HEAY FR0l=

SAL ol XIS HARIAIZICE

Ay 1 U7 B mls =2 8l 2 98 129 300,000kmo] £
T2 ogsict 3 Wt ALk I8, 4 24 g ol vkt

E

si& » 1 from what | hear W7} E7|2= 2 be aware of ~& YLt
addiction &= 3 be through (with someone) ~2} HWsICt 4 | have
been told ~2t= YE ECt

F

sl » 1 taste= Of7|M X2 ECtets &9lQl 2OlE Zh=Ct 2 belong
to= ~Of &aithats K2 HEE LIENEZ IS £ =+ olCh
3 smello] ‘~2| ATt Lithehs £ U= HJEiE LERHT, ‘~2of

Zrigts XY e RIS LIEHDL 4 JOiE0| XIF 22|27 U= A2

D[Sl 2 XIgHS Ok
siA1 » 1 2= ohAERS gk QI 2 T 4 EE= Brown A9

Zoleh 3 7 le s WS W glr 4 FiEe] AFos
2elm gl
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(

A 2 Wil 2will 3 willyou 4 will |

B 1 Will we see an eclipse tomorrow?
2 The doors will not[won’t] open.
3 The program will be ready in a week.
4 How will you pay the bill?

C 1 Will you pass the bread?
2 I’ll see you at noon tomorrow.
3 The cleaning man won’t[will not] wash the
toilets.

D » Example answers
1 The cart won’tjwill not] stop.
i 2 The window won’t[will not] close. i

s » 1 3 ol 2ol ESAD} LIS 4 glomE ZEAP) 9tof Sict

2 07t 32 2tz ZSAMOIIE -(e)sE E0IX| Y= 3 AZZ00A
= ZSATL FO| Y22 L2CE 2FAP} U= ARER (QZA)+ =S
F+ 30| + 23Ahel oleg =Ll 4 wil CH30l= SAHFRES A0, &

E Qholl SAt 27 £ 4 ik

>.

a4 > 1 71 W) Az 2R RAka? 2 Tk g
ofash & Aolck 8 U= oA Fob AU? 4 BoleAs, ot
Aol A AL st Ao,

SiE » 1 QAZADE @l ZSAPE A= AZE2 ESAH+ T+ 2SAH+
7,2l oS Z=rh 2 wil2 gEo|Lt nRS LEHLY | Stk 3 will2 0]

2HE LIEHHE ZSAZA %E Aolcrets K& HE 4 ARMRt =5
A7 UE Q222 "(AZA) + ZSAH+ 0| + 2SALY| 0l&E Zh=Ch

A A7y 2 #o] & FElA g=th
| Z8lE Zolch 4 LA AstAIZL
*‘477}7 (?i%oi Arkd QA l= AL A E 2= &
olct)

C

s » 1 wilk2 SThZollAl Metolut REE o ~alf FAIZIIR?'2H= 2l
2 MOITE 2 wilk2 2JXIE LIEH0] ~& Zo|ctats £2 Zh=Ch 3 wil
O] IEOILt gofs LEHH7|= SfCt

we m
X

o,

4o o
o

D
& » wilo] MfolLt TEES LEHO ~oti 1 sitfete S8 W7I= Bt
=
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A > 1 K27 BEAE ol 2 Fo] 1A o,

e

! A 1tofall 2 going 3 areyou |

B 1 The branch is going to break.
2 |s it going to snow?
3 What are you going to do this weekend?
4 There is going to be a party tonight.

C 1 She’s going to have a summer vacation next
week.
2 Gary is going to apply to Harvard University.
3 You’re not going to finish your homework by two
(o’clock).

D » Example answers
1 going to be a dancer
i 2 going to be a fashion designer i

54 » 1 be going to+ SAFEY: ~& of™o|Ct 2 in time AlZHol] 23
3 be going to ~2| 2|22 2 be SAIR} F0{2| IX|7} HFFILCE,

A e 1 4 HolzioH 2 1 =Yl A7t
£ oftjA qhd 7oR?

S A Aok 3 1g]

o]

sl 1~4 be going to+ SAFHE,2 Df2H0fl ZH=lE 2oLt =7 2

>
1S e mf M= BHOR ~& ofIFo|ckat= 2lojojck.

ol

pS|
=
Q
=

ot

814> 1 WS} el T g 2 o] 23T ahf? 3
£ o]l Zo] ¥ B AU 4 954k T} QLS Aok

C

A » "be going to + SAFREE2 ~& ofFolct2k= Solch 1 have a
vacation £712 ZCt 2 apply to ~0fl X5 3 be going to ~2| 24
22 beSAt CHZ0ll not2 M ZCH

A » 1 dancer 224 2 fashion designer I{A C|X}0|L]

a4l » 1 Us 787 2 7ok 2 U i dAteldrE E Aok



T N\
! A 1 won’'tbe 2 isworking 3 willrain |
B

1 |t’s going to snow.

2 |’'m seeing the show with her tomorrow.
3 Heis going to talk to her.

4 Are you leaving already?

C 1 By this time next month I’ll be staying in Hawaii.
2 What are you doing this weekend?
3 The flight to New York leaves at 3:45 p.m.

D » Example answers
1 is going to the college next year.
i 2 js going to slip on the ice and fall (down). i

s14 » 1 won'ts will notQ] ZQU0ICH, REA} CH20lls SAMISI0| 2Lf,
2 2750| =0 U= Dl2Hel ZR0l= SRHZIEH0| DS chAlE & ck
3 LY 0j2f0|2 2 willS 22Ct

ol

a4 » 1 = 11 wEje]] 7R & Zlolnt. 2 = o A&
GEoflA] &g Zolct, 3 i Hl7} Z 7ok

514 » 1 be going to ~& Z{0|ck 2 Dj2] AE=U T FH|E o] U= N

elo| njzfe] ZRoll= SixizIi=ol 0l2HE chalgh &~ ULt 3 talk to ~O0lIA|
US ACh 4 YA LT FOfT! THOIR HOF SARRS] ST HA Tl
172k WE0o| MEsHH, ojul SXHTIZEZH0| O[2HE CHAlE 4~

sia s 1 A7 51 F0 S AY
2 U 1 399 Ee] 2 gtk —
Wl 2 Aolrh, 3 27k elA Hrba 9)
Tl W 2 Aok 4 2, AREE B - WA b

C

sl » 1 Oj2Holl T SY A= ofld=l= Loll= DIKEIRIFE A0, Twil
be +-ing.,2| HEHOICL. 2 AT O[HE UEIE FARE S 20
O2HE LiEFE &~ QUCL 3 WSHO|LE AIE S2| BR0il= STHAKIZH O]

S chhlzr 4 ick
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e

Si4 » ZBRE SYE 2402 M2HEl T be going 102 OIS LiESY 4

a4 » 1 1= Uil diste]l Z Aok 2 17} oL o
o

T —_— \
! A 1went 2tostudy 3 call |

B 1 He bought me lunch today.
2 She was going to be a pianist.
3 Were you going to go to his party?

C 1 YiSunsinwas bornin 1545.
2 | was going to see the TV show, but | fell asleep.
3 He wasn’t going to study today.

D » Example answers
1 | graduated from the college in 2011.
i 2 | was going to be a singer, but | gave up. i

A » 1 THE LIEHHE last week7t QB2 IS 2ERIS F £ Q|
C}. gol| IHEE went0|Ct, 2 "was/were going to + SAFEE = o0
SP7|2 oLt MNZE UWMGHK| 42 US LIEHHCE to CSollE SAIYEH
2 20} 3 LetSAP} = IS O|RE2 Did+ F0 + SAhS| oS

Z=L,

a4 » 1 s Aol Aol ZhTh 2 v Weke SRekE AL
AT, 3 27} oA vlofA HetE Y

B
4 » 1 buyQ FAHEE boughtOICt 2 'was going to + SAFREE .2 217
off A=A Aalzlz{T oLt MN2= UOLIX| 22 LS LIEHHCE

3 are?| IHIFEZ wereO|Ct,

B> 1 T 0% el BAE 4lth 2 T sohiaEs
seln ek 3 vt 9] shele] kel 2

C
a4 » 1 be born EHOILICH 2 fallo] IHAHSL fellOlct, 3 BRE §
Ao ded AMERE S82E S =Ucks 2ojolch TIAHE beSAt+

going toy= H7A{0l| Al&lgt Lo| MI=|X] LUS W A= FZ0|Ct

txl et

D
siA » 1 graduate from EY3ICH 2 give up Z7[GHCE givell TASES

gaveO|Ct.

8141 > 1 UHE 201140 tjahe
out =73,

93 2 Ui 749t el
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S - N\
! A 1 was shining |

2 was playing, went
3 was waiting, went

B 1 My father was smiling at me.
2 | was not thinking at the moment.
3 What were you doing at this time last year?

C 1 | was taking a nap around noon.
2 While | was waiting for the bus, | called Mom.
3 He was living in Japan when Korea was liberated.

D » Example answers
1 | was sleeping when the phone rang.
2 | was walking on the street when a biker
i snatched my purse. I

siad > Il QAIER! MBS LIEKE tols THIZIBES Aot DT

S o
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80| SEfl= heSAte| TS +-ing.0|Ct
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B
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== \
! A 1take 2 use 3 take 4 usedto !

B 1 | used to swim inthe lake every summer. / Every
summer | used to swim in the lake.
2 Did you use to work in the gas station?
3 My grandmother would sometimes look after
me.

C 1 There used to be a well here.
2 Many people used to use beepers.
3 He would sometimes draw a picture.

D » Example answers
1 She used to wear her hair long.
i 2 There used to be shanties in the town.

B4 > Tused to+ SAMRS,S £ 74| £OR Mol=r, ~atE rFat
oz Ihjo] FAIARl US LIENY o, J2|1 ‘(@pHol) ~HUCFats &

2 Sidliet FabEl niA2] YEHS LiEtd = fACt
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A > 1 Uz Hofls A Fofl £3A1E HE Jlick 2 197t 9
Aol FEWI? 3 = Y oby ARE st 3Tk 4 ofFde]
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of 2AIX0l U2 LIEN mol= wouldS 2t
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C
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D
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Vg
! A 1 have returned |
2 found
3 did you hear
4 met

B 1 Have they gone out?
2 Aron has not arrived yet.
3 Have you seen her today?

C 1 | have gotten twenty phone calls today.
2 She has not visited Korea.
3 My parents got married twenty years ago.

D » Example answers
1 have twisted my ankle.
i 2 have[had] my decayed teeth pulled out. i

s » IAMKIE 2te] S AI-O]| WIS AS LIEFS uf AHZsta, SRy
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B 1 We have studied English for seven years.
2 Qur train has not arrived yet.
3 Have you ever given a speech?

C 1 Zack has worked for the company for ten years.
2 | have never seen a zebra.
3 My order hasn’t arrived yet.
4 She is the best singer I’'ve ever heard so far.

D » Example answers
1 The restaurant has been in business since 1960.
2 The restaurant has just opened its 200th chain

i restaurant. |
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| A 1been 2 beendriving

3 beendoing 4 thought

B 1 They have been dancing the samba since 2000.
2 The alarm has been ringing for twenty minutes.
3 How long have you been watching the video?
4 | have been waiting for a girl like you.

C 1 Have you been waiting long?/Have you been
waiting for a long time?
2 He has been studying at the library since noon.
3 I have been looking for something new.

D » Example answers
i Our baby has been crying since you left.
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B 1 She had had nothing before the cooking show./
Before the cooking show, she had had nothing.
2 | knew | had met her before.
3 He will have arrived by tomorrow.
4 They will have spent all their money by June.

C 1 The author will have finished her new book by
next month.
2 He realized (that) he had already read the novel.
3 If I tell you this one more time, | will have told
you one hundred times.

D » Example answers
1 will have finished her homework by four
i 2 got there, all the guests had already gone i
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| A linstead 2to 3to 4 but |

B 1 We wouldn’t be here otherwise./Otherwise we
wouldn’t be here.
2 Or, as an alternative, you can pay in cash.
3 We have no alternative but to accept
responsibility.

C 1 walkto, instead of driving
2 He has no choice but to apologize.
3 otherwise you will be punished/you will be
punished otherwise

D » Example answers
1 ride a bike to school instead of using a bus
2 quit playing online games. Alternatively, | will
i work out i
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l A1e 2a 3c 4d 5b 1
2b 3b 4a 5a

A
B 1a
C 1 | have been watching the drama series.
2 Jack used to swim across the lake.
3 The plane is going to take off soon.
4 He was going to give it up.
5 You will be regretting it.

D170 2100 3100 470 50

E 1 He chose to start a business instead of going to
college.
2 Tony couldn’t do otherwise, or he would be
dead.
3 We have no choice but to conserve electricity.

F 1 The Korean soccer team won a bronze medal in
the 2012 Olympics.
2 She’s going to spend this summer vacation in

Florida.
H 3 She has had a double-eyelid surgery. J
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! A 1run 2 lcan’t 3 Canyouplay |
B

1 Cats cannot[can’t] see in the dark.
2 Can he read Chinese?
3 You can use a dictionary in the exam.

C 1 |can’t remember her name.
2 Juliet cannot be home.
3 Can I try on these jeans?/Can | try these jeans
on?

D » Example answers
1 Can you help me?
2 You can’t skate here. i
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! A 1 couldn’t 2 can’t 3 couldn’t |

B 1 Could I take your picture?
2 Could you lend me some money?
3 Could I have a burger with French fries?

C 1 You could have been hit by the car!
2 He couldn’t have seen me.
3 The operation could go wrong.

D » Example answers
1 He could join the final.
i 2 He could have[could’ve] won the Gold medal. i
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2 be able to
3 isnot able

B 1 Fredis able to walk on his hands.
2 Are you able to ride a bike?
3 Sheisn’t able to play the ukulele.

C 1 The player was able to win the MVP last year.
2 Will everybody be able to live green?
3 Were you able to get tickets to the festival?

D » Example answers
1) was able to speak English fluently 2) she will be
i able to speak it 3) Will she be able to pass i
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B 1 May I help you?
2 You may bring your own food.
3 They might have arrived hours ago.

C 1 You may not leave the classroom during the
examination.
2 There might be some complaints.
3 He may have misunderstood what | said.

D » Example answers
1 May | have a refund on this
I 2 The file may have been deleted. I
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B 1 The window must have been broken during the
quake.
2 We must not rely too much on technology.
3 She must return this book by tomorrow,
otherwise she will be fined.

C 1 You mustdrink a lot of water
2 must not [mustn’t] believe everything
3 must be tired of

D » Example answers
1 must be running after someone
i 2 must have been here i
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| A 1don'thaveto 2 hadto |

B 1 hasto get a student visa to study in the States
2 have to enter a PIN code to access the file
3 don’t have to fake a smile

C 1 Do we have to issue a storm warning?
2 Someone had to make things right.

D » Example answers
1) have to do the laundry
2) don’t have to clean the bathroom
3) have to wake up your sister
i 4 have to pay the electricity bill i
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! A 1Shall 2 should 3 shall |

B 1 should be a warning against jumping into the
river
2 should win a scholarship
3 should have been honest with her

C 1 There should be a repair shop around the corner.
2 You should change the bus at the next stop if
you go there.
3 It was not a difficult equation and you should
have solved it.

D » Example answers
1 ought not to call your friend

i 2 should be returned i
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3 A: Katherineo] W& o] oA} Wa}a] L 31| ¢kol
B: 1 7igke] g2 glojof Floj,

0|

C
i » 1 ‘FE'Z LIEHH= shouldE #£Ct 2 ‘S1'E LEHE shouldS
20t 3 should have + IHAZEALE WA 274 AROl| Cist 2| E LIEHH
Ck.

D

1A » 1 ought to2] £&2 ought not to0|Ct, 2 'HH'S LiEHH = should
g #r

i » 1 o] Aol A73E HSAL ot . 2 ek B
QA Q3L kot Tk

e
I A 1 maywell |
2 would rather
3 had better

B 1 might well
2 had better

C 1 may[might] well want to take a day off
2 may as well introduce yourself first
3 had better close all the windows

D » Example answers
1 would rather play tennis
i 2 had better make a detour i

sH& » 1 may well: ~5t= A= A5 2 would rather: ~ECH= XI2t2]
~317ICt, ~8H= ™O| Wt 8 had better: ‘~&H= MO| WLt FE ~EH=
Zo| o &ct

B
SA > 1 2o ~ae Ho| Wrh ~3Hs T Lk elckats olojel
o1

might well2 #LCt 2 21Z0f 42 810] had betterS £2LCt.
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8141 » 1 o] APOIA 7k U Aol Apelx) Y7t siztel
Fata), el ek Agolrt ool 2 1 4] %PEM 5
Hgof g}, oF 2w o] WpSo] TS wit v Aolck

C
514 » 1 may[might] well: ~5t= A= ZHSICE 2 may[might] as well: (&
Sofl w2t ~She ol Wk ~3He A= LiX| 4Tt 3 had better: ~&f

£ BO| Wt X ~ats 20| o BCrE ojnjol 2ot 51

D

s » 1 ‘E10'7} ofL|2t ‘MENS| 2X|0|2 2 rather thanS £Ct 2 It2 to
cross the bridgeZ 7I2|ZICt had better CH20ll= SAF 21340| 2L}

SiA1> 1 AL ol® 252 o s A2
ol A RCHs HUAS A A ) U 3 2ol
2 A: ThelE A 7 ok SR A ok
B: he Eobd $8j5heA £4],

( 3\
! A 1 another 2words 3as 4speak 5put |
B 1 To putitanother way, you’re all I need.
2 |tis also known as the King of Herbs.
3 Heis my rival, so to speak.
4 To put it simply, English is easy.
C 1 Franzis afraud, a common thief in other words.
2 Arésuméis also called a CV.
3 Let me put it another way.
D » Example answers
1 is also called Takesima in Japan
i 2 js also known as South Korea outside the Korea |
-— J
A
a4 » 1 to put it another way 2| ZSIXIH 2 in other words CRA| 234

M 3 be also known as ~2l1E 22N U= (=be otherwise known as
~, also called) 4 so to speak O|2Hl A2| O HoM=(=in a way)
5 to put it mildly M LSHKHH

st » 1 &) Lol v v =3k 2 GEof 24 e @
G oA TEERE %ﬂ% ZH%H‘“AL]E} 3 Joe Smith
+= Baby Face Smithztale &4 Qlt}, 4 Garys= &9 4o] o
U= Abdele}. 5 @A @t = Solsith



514 » 1 In other words, ~ = To put it another way, ~ 2 is otherwise
known as ~ = is also known as ~ 3 in a way = so to speak 4 If |
express it simply, ~ = To put it simply, ~

Al » 1 TA] Dok, U= 7F R = s ARok 2 T2 oF
0] gojen oelx 9lr. 3 oW Wol A 1= v A4 Al
ole}. 4 7hehs| wetel ool 4ick

C

& » 1 CRA| L3l in other words 2 ~2f= ZZICt is also called ~
3 CI2 Alo 2 BHGHHUSICH put it another way

D

54 » 1 ~2l s 22ICHis also called ~ 2 ~2lE A T} is also

known as ~

TEST 6 UNIT 39~47

( N
A1 may 2 haveto 3 May[Can] 4should 5.can |

B1b 2d 3a 4e 5¢

C 1 May | make a suggestion?
2 You must try skydiving.
3 You would rather not answer that.
4 What shall | wear when | go hiking?
5 He had to learn French when he lived in Quebec
in Canada.

D 1 may well — may as well
2 E2IReUS
3 had not better — had better not
4 will | can —will | be able to
5 must not — can’t

E 1 sotospeak
2 that is to say
3 to put it another way
4 In other words
5 also called

F 1 Youdon’thave to[need to] be an excellent
dancer.
2 This might[may, can] be your chance to introduce
yourself.
3 Students should[ought to] enter in teams of
more than three.

4 Applications must arrive by November 11.

i 5 If you are interested, you had better hurry! i
1\ J
A

s » 1 SRiLE Of2he] F5S LIEHH= mighte may2 HHY & %= QUCL
2 need to ~ ~& Z7} QlCt (=have to) 3 57tLt @FE LIEHE=
Could | ~?9| 9222 May | ~? E= Can | ~?2 HHHY £ 2= UCh
4 ought to2 A} = should + SAFRIE (~5HOF SHTH 5 be able to =

i > 1 U= Y of7] 9L
3 1] 100 FolE A
27) 4 15—% 22 st

Fle= =

B

314 » 1 so | can't ~ JafA LH= ~&F 2 gt 2 must not cheat E2A43H
QIZ sliA= oF =ICt 3 could play in the streets ZI0IA] & 4= QUQACH
4 may well: ~ ~GH= Zd0| GAHFICH 5 Try calling ~.: ~tel| Hatsl =t
should be home Eof| U0{0F &t by now XIZE, OlXil=

eAE =T 2 ve 7|tk d8 glol.
UE7HR? (= A1) 100 Fo] FA70]

| Thof Jitk 6 ts AEo]2E W

=

s4 1 e A2 AL slzsith 24 U vE 29% 4 gl
o 2 A% A ) RS S oF Bk 3 ® 3 Ao of
CIe] AR b 4 USick 4 diel lo% LA goln

Aol sttt 5 Juneste] Astel ¥, 2|2 A7kold 1=

401 i

(@]

s » 1 222 May + 30 ~?, FEHO|CE 2 'must + SAHEZ,0] =0
Of StCt 3 would rather?] 282 would rather CHZO0f| notE '2=Ct. 4 A
Qto|Lt B11E LIEHH= shallo|Ch SIZAIE T A E =10 shall IE /At
CtS0fl =0t 2|2 22 THECE 6 Thad to + SAHEE, ~aHOoF ZHCH when he
lived in ~ 217} ~0f AU mjf

A > 1 A ALE S DALY 2 4 2tolrtol g o) B
3 U 3 Hsk gk o) Eh 4 stoly 2 U ¢
A F2717 6 1t At AMelA & 1) ol vielor
o

D

a4 » 1 may well ~ ~&te 20| YH5ICH may as well ~ ~5h= 20| W
CH 2 "should have + 2t72AL~3H0{0F ZICH (= ~&Hojof 3Hi=d| 51X | =3
C}) 3 had bettere| 22 had better CH20]| notS Z=Ct 4 willZh can
2 0|ojA MX| &=Lt will can (X), will be able to (0) 5 cannot
[can’t] be ~ ~& 2|7} QiCt

3

).

st » 1 o] TEPZF Ui wEshdl fofl 7he Al WA 2 A=
2l Uz oAl 27ls EWlolor Jol. 3 Ue 22 A& vl st
A o= Al Fok 4 771l E Al =2 4 Qle7t? 5 Julietd
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27} glol. 2d= A= Aol el

E

514 » 1 so to speak O|2H}, AQ|, O HO|AME= 2 that is to say Z5HA
M ~2t= of7|Ct CHA] 245 3 to put it another way 2| HLSHAHH 4 in
other words CIA| Z3HA] 5 is also called ~2t1 = STt

541 » 1 A! Harry= 2= 7| glof!

B: T 9] o} Tz Aldolok

2 A1 1 914 lste] Zh?
B: Ak el 7kel, ThA] Wat 59 1900],

3 A! Jenny+= o Algfo]of?
B AU Fob, 2l et ohjeb: @

af.

4 A7} ol o1 715 ol F2shilrka
Br o] wab U ) 2 vl Aok
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L
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5114 » 1 don't have to[need to] ~ ~& ZQE QICt 2 This mightimay,
can] be ~ 0|Z0| ~UX|= ZEC} chance to+ SAFRE, ~& 7|3
3 "should[ought to] + SAH¥E ~aHoF STt 4 must arrive =2t6HOF STt
by November 11 118 11IU7IX| 5 had better + SAFHE, ~5t= 7| ECt

e N\
A 1 gA 2 2AF 3 EHEAF 4 TA !
B 1 She hates to lose.
2 | didn’t expect to see you here.
3 The man’s job is to deliver the mail.

C 1 He likes to jog.
2 | went to the park to jog.
3 Her goal is to jog for 30 minutes.

D » Example answers
1 to put an elephant in the fridge
i 2 to complete the mission I

14 » 1 to buy= wante] 2X0{0|Ct. 2 to see= 27| LshAl2H= 2jO|
o] HAM 2%o|ch 3 to wear2 anythingS FO|= S2AY 2HoZ M
‘2lE'0l2k= 2ojo|ct 4 To sees= 2%t 00| to believe= E0{0|C},

a4 > 1 U ARREE AL glof? 2 Tk ude we) aite] 7t
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o 3 U 92 Aol gl 4 B Zlo] W

B
SHA » 1 toFHAHE o + SAHHH Q| HEHOICE seed -s7t 22H QF EIC|
2 toREAE o+ SAHE™E.Q FEHOICE sawes TAHO|IZE o EO
3 deliver2 SAO|22 11 XHZ 207t 2 2~ STt deliver® 22 T

2 to2 ™AL HHEHQ! to deliverO| E|00F BHCE to deliver the mailo| 2%2]
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B4 > 1 I A A Holalth 2 U 074 g mejek
oS Eaol. 3 1 WKle) Ml SHES viEsE Aol

C

SHA » 1 ‘~ote W2 oREFYAR LIEM £ QIoh stz WO0IEE to
jogZt EICt. like to jogOlM to jog= likeQ| SX{0jolct 2 ‘=5t 0|=22
to jog= 2AME 80| Eict, 3 ‘TZsk=E W 0|22 to jog= TAMY 2H
0| =t

1o

1 is CIS0|22 E0{7} ZQ3ICt 2 to complete= 7|A EAtQ]|

My
B ot0] ‘Aal7| 2l ete K22 ML

Yole}, 2 Y= 1 4
AN

| A 1 2=x0| 2 Toteach: Zo0f,to learn: 20{ 3 =2=o] |

B 1 |tisimportant not to skip breakfast.
2 | hope to go backpacking in Europe.
3 Your mission is to explore the world.
4 | might want to borrow your math notes.

C 1 |wantto sleep all day today.
2 To walk is good for weight loss.
3 I promised not to lie anymore.
4 | never expected to get through to the finals.

D » Example answers
1 was to lose

i 2 He refused to eat i

514 » 1 to rides BAME Hoz M| Z10|H learn2| 2X0{0|C 2 To
teach= HA O 2 MO| 00|10, to learn2 HAPE Ho 2 MO| H
ofo[ct 3 to fights BAMY SHOZ MOI 240|H agreed?| SX0{0|Ct,



s> 1 U QA A B A EU? 2 ZkEXE e F
woll ZA Hl9- Aoleh, 3 o] Holdd F Urek Th A
A plckan ek

B

Si4 » 1 it 7FF0{2 Sl not to skip breakfastE TIFHZE Sh= Z40| X
HAZLE &, Mtis ~ not + o2 AL HEHE FISITE toRHALR| 2™ of
o noto|Lt neverE &°ICt. 2 to go= hope?l 2H0{o|ct. 3 your
mission2 FHZ 5t11 to explore the worldE B2 5H= Zd0| XIHAZCE

4 0| |2 51 to get throughZE expecte| 2&0{2 Sict
i » 1 oFE AEA = Aol Fasttt 2 vi= fHolA i

oS ST Aol 3 Y] ARE AAE TS Aok 4 U )

58t wES Weln Aoy,

(@]

sH& » 1 want to ~ ~&t ACt 2 to walk 27| / is god for ~ ~0f ECt
3 R HAL| BHE o2 ™AL Y0l notO|Lt neverE £9QICt promise to ~
~ 317|2 2UASBICE promise not to ~ ~ SIX| 7|2 UXSICH 4 never

expect to ~ ~&t £2 M2 Zsict

D
A » 1) to lose 10kgs 10ZLZ IS WCE 2) refuse to ~ ~2 HESICH
aiiA » AR A7) Cholo] EE S| & ok
1) 19 H3E= 10kgS Wi Aolgleh 2) T JIARE AF o
715 AR,
UI@TW  EXERCISES
, P - - - N\

! A 1when 2how 3 what 4 where |

B 1 | wonder who(m) to invite.
2 Can you show me how to get there?
3 He didn’t know what to say.

C 1 |can’t remember when to turn in my homework.
2 | don’t know where to start.
3 | couldn’t decide what to wear.

D » Example answers
1 how to reach her and when to hold the party.
2 She must decide when and where to pick them

i up. i

ai& » 1 when to press= ‘A E2{0F EX[2H= KO tell?] SH0{0|C
2 how to log on2 ‘0{E7| 22 sHofF &X|, 22 5= HE02ls =2

e

2 tell@] SX0{0|ct 3 what to do= “FXRE ~8lioF &X[2t= SO & tellQ
Z2x0{0|ct 4 where to get off= ‘OICIA Li2{OF SX[Q O 2 tello] =X
ofo|ct,

41> 1 HES Q4] Sejok shex] Wl 7, 2 7 Apol=e] of
A 4she) wel 7, 8 st olehet kel kA v 4wt
oft]A] felok sH=A] Uigke] el S

B

A » 1 wonder?| 2XHZ M2l A who | should inviteE "Q2At+toF
’“M o| HENR! who(m) to invite2 HHECEL 2 showl| 2X0{Z MQl &
how | can get thereE "O|2AL + to 2 HALLS| HEHQ! how to get thereZ Ht
HCt 3 know?| SX0Z M2l A what he should sayZ "Q|ZAt+ toF &
Ah2e| SHEHQI what to sayZ2 HELY,

SA > 1 S ZASor BA mEFol 2 A7 of8A 7HeA
eA 297 3 a2k Heka g slok 84 Btk

C

541 » 1 ‘©IH| ~5HOF SH=XI'= "when + o2 RALE 20} 2 ‘0TI ~af
OF X['E "where + to2™ALE L} 3 ‘BAS ~aljof EX['= 'what +to
BEHALE 0

D

s » 1 XCHEO DIEIE Ol A7t M I A ooz knowl|
SX0{Z how to reach2t when toS AFSSiCt 2 2HES K| HEAH EY
2| EX|= o=l M5IX| UULE decidel| 2X0{Z when[where] to ~Z At
Bl

141 » Julie®] upAju} sIHE]

39 30Y, EQY 64

uo] HshHS: 055-478-3769 whg Algka A4 ?

1 Juliew Z7|oA Aetshe T ohe Ak AFEolA 23l
th 2 34 A g 2ES Aol B9 dizf&A] Aok gk

A 1 to book aticket now !
2 to spend all your money on clothes
3 to getatable

B 1 It was my pleasure to show you around the city.
2 |t was a mistake for her to follow his advice.
3 It was careless of you to leave your smartphone
in the bus.

C 1 jsdifficult to remember your phone number
2 js strange for her to go out
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3 is rude of you to talk like that

D » Example answers
1 |tisn't easy for him to reach a strap.

i 2 |t’s kind of him to give the[his] seat to her i

aliAl » 1~3 7135042t 0| TLR0ICL it0] 710{0|2 to 0[5+ ZIZ0{0]
=3

Ay 1 X F E FE ookaol H? 2 2ot v =& o} 2k
olg|dL Aolglo]. 3 AeE HAS 4 e7ta?

A1 tO':'X"AI‘:rLE = FO7F ZH it ~ toRZALL| FEIZ TR0 - &
—r—01 TES 20 2 29| 02} toFHAR| 07t CIEH toR-AL
ofl for + SXA.,2 MW toRFAIL] =01E BfSlCt 3 AtRE JZRISH7LE H]
ol F8AF HolA= Tof + SXAE MA toR-ALe] FOE Esict.
careless= H|\SHE 2Ql0je] FEAIO|2Z It was careless of you to ~7t &l
Lt It was careless for you to ~ (X)

st » 1 HOA A 2 A7 34 slo] B9 2 2 2l
2 WE e o] ALglrh 3 ANIEES wlae] Srh BE

ofgut
C

i » 1 oREZATE B F07F 2E it ~ toR ™ALL HEKR 7150 - 7
0| 22 MM Zoict 2 2Ee| F0i2t toR-HAIR| 047t CIE2H, toF
AL A0l or + EXZ S MA toRFALS| FOIE HEICL 3 AlEE ATt
7{Lt H|tote E8AF FlollM= Tof + SXA 2 MM toR-AIR] FOE B8l
C}. rude= H|tSH= |oje] EEAI0IE 2 It is rude of you to ~7} EICt It is
rude for you to ~ (X)

L4

o

4 o
A0z
= Mo w
5

O{Z! ©o] himS AtE3i2ta e a2 Mt ~ for him toRHAL2)
2 ZRFSILE H|LtSHE AL Flof M=Tof + 2R 2 AR

d= ERtsH= ojoje] EEA0|2E It is kind of you to ~7} EIC} It

1 S
I

Ell

i
is kind for you to ~ (X)

s » 1 ol

A7Vt el A esteh 2 el 4]
A2lg grchy 1 AU Aol

Ve
! A 1torecycle |
2 to trust others
3 to get about

34 | Answerkey

4 to get to sleep

B 1 His eyes made it impossible to lie.
2 You’'ll find it helpful to talk things over with a
friend.
3 I make it a rule to speak English as often as
possible.

C 1 He found it difficult to talk to her.
2 He makes it a rule never to borrow money.
3 The Internet made it easy to share information.

D » Example answers
1 easy to remove the viruses
i 2 arule to back my files up[back up my files] i

siE » 1-4 71=80f- T=H0f F1Z0|Ct ito] 7H=%{0{0|22 to O[5t TS
Zojo|ct,

S8 > 1 B Aol AT 2 FasH o714 et
2 e W Zlo] ofgith 212 QAU 3 A5HA A48 Hio
B ARgEo] of5he Zlol 4915tk 4 B FHow FE]
e 29 = gl

B

s » 1 to lie7t made?| ZISX00|22 made CHEO| 7I530] itg 20

JIE2H0 - XEHH 22 ECL 2 to tak ~7}t finde| RISX0{0]CY, find
Ct20ll 7H=2X0q it0] E0{7}0F Btk 3 to speak ~7} makel| ZI=ZX0{0|
B2 make CH30] 7H5%{04 ito] S0{7t0F S

Si41 > 1 719 2 ARE 5] gk 2 Aok ofIE e
A mgo] Hcks A oA B Aok 3 vhe ThsahE 43 ol
|2 o,

wu e

(@)

1A » 1 find it difficult o2 =AL ~&H= Z0| ORBCH= HE LTt 2 make

it a rule o2 YAt ~Ste W2 FEIC 2 SiC/make it a rule not o2 -AL ~
SIX| 4= WS EIoZ S 3 make it easy 0RERAF ~EH= A2 €A
SICHEHSC

D

314 » 1 think it easy tob"‘*A} ~5t= WS g MZSIC 2 make it a
rule OELRIAF ~BHe Z1S YR|O 2 AL}

i » W FHFE 7 Hlolgao] Hsie]. 1 U= vlolHAE A
ahi A 4ok Az, 2 U FAEo R TS ne A4
= Ao},



c N\

! A 1torest 2 tobelievein |

3 to marry him
4 to travel into space

B 1 I’'m looking for a chair to sit on.
2 We need friends to hang out with.
3 She gave me a book to read.

C 1 |sthere anyone to help us?
2 There was no one to depend on.
3 He is not a man to break his promise.

D » Example answers
1 Do you have any baggage to check in?

i 2 Would you like something to drink i

| J/
A

i » 1 oA 20l U= BAE SEEAE RHE o ULt time to
rest € AlZt 2 something to believe in 22 & U= {H A 3 a

decision to marry him 212} Z&st ZAl 4 the first woman to travel into

space 2F0AZS o 2= oY

si41 > 1 4 AZIolok 2 Uk U W 4 Gl FetE A,
3 1t 9 AESIE Ak 4 9T
A2

B

S » 1 o2 ™APE o + XSALY HR, AtSAtls SH0E F6HX| Zi=
2 02ZAE SHOE Fob7| flshMe HESH MXIATZL Zeslt &, sita
chair 2t K| Q41 sit on a chair 21T 5I122 a chairs® TH F&= toRH
AHE a chair to sit on0| E|0{0F BiCE 2 to B ™A O T HAD 08H
Ate] SXY , toRH-AL Fol T AL HEALS CHA| W =X] §4=CL to
hang out withe] SX0{Z friends?t U=E, to hang out withe| SX0{=
themS M= A2 ELRSH E50|22 MX| ok=C} 3 to read2| SX0{7}
bookO|2 2 to read?| SXOIE itS £ & L= girt

=]
=

e

Si41 > 1 LFE g oS B glo]. 2 29 2750
=)

Lastch 3 1 ek ol A &

C

& » 1 anyone to help us P21 =2& AE 2 one to depend on 2
X2 A2t 3 a man to break his promise 2&S {2 A2}

D

514 » 1 any baggage to check in M|3218t o 318 2 something to
drink OFA 2

41 » 1 A1 22 o] Qg

24 2, B, SRS F W E SAASUR

B: A= WEFSU / ofke, Sl5UTh

Ve N\
! A 1 ZE] oigolct !
2 27t =ASHERH
3 2 = gl= 2ot
B 1 The singer is to play his farewell concert this
week.
2 We are to finish the project by Wednesday.
3 Plan a meal ahead if you are to eat out.
C 1 You are to be back by 11 o’clock.
2 We are to follow the rules.
3 He was to be killed in the war a few months later.
D » Example answers
1 Queen's Birthday Parade is to take place
2 you are to attend it[the parade]
i 3 are to apply I
—— J

siE» 1018 29x] 2= 3 28

s8> 1 T 95 9.5 2400 714813 & oFeltt 2 9
7E AR A7) EASRE AR A £ Aok 3 U oA
£ IeAe & 4 gl eolsit

B

a4 » 1 is going to play — is to play (0I) 2 have to finish — are to
finish (215) 3 if you intend to eat out — if you are to eat out (2|=, 2|X])

C

silA » 1 =S0}2o} 3l are to be back (CF) 2 wi2tof St} are to follow
(HY) 3 =2 2H0IRAC} was to be killed (2FH)

D

s14 » 1 is to take place (OI&) 2 are to attend (QIx, 2JX|) 3 are to
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apply (1) siAl v 1 Ui 23S wots] 93] ARE mow 9ck 2 oW
7o) A AZEIR IFU7? 3 152 Felo o27] i3 @

[e}
atiAd » oS B TElo|= A okl k. 4 Y7F 2 dAEE dosH AL ok gt
g7 39 159 89 =
YA T
uizk 24 c
1 o< 2AY Hgo|=7) 39 15 EQde) 99 o YUt 2 54 » 1 cut down on staff XIS ZHISICH in order to cut costs HI&
FHASIAIEYE FE AHSAIR. 3 29 DA AR s ofF St H=U5| ol 2 BEA| 7fBE 2RO 2 with the intention of going to
the wedding 3 for the purpose of SHA}L
D
SHA » 1~2 ‘~3tX| 27| YlshA2tD & I to2] A0l nots 0 in order
UNIT 55 EXERCISES ISDR—
S N\
! A 1 purpose 2 intention 3 in 4 order 5 mind !
B 1 Forthe.purpose.ofcomprehendingit, I’m TEST 7 UNIT 48~55
gathering more information. ) i 1
2 What sort[kind] of house do you have in mind? l A1c 2¢ 3a 4b 5d

3 They are negotiating with the intention of
reaching an agreement.
4 You must be competitive in order to get a good

B 1 |tisagoodidea
2 how to use
3 was rude of him

job. 4 to marry Paris
C 1 cutdown on staff in order to cut costs 5 you are to be there
2 He bought a suit with the intention of goi.ng C 1 isto protect the public.
3 goes to college for the purpose of being jobless 2 is unkind of her to say that.
D » Example answers 3 find it difficult to work with her.
1 Do it right now in order not to regret it/in order 4 is the right thing to do.
to have no regrets. 5 When am | to come again
i 2 Move forward in order not to fall behind. i D 1 for—of
—— /

2 to not go —not to go
3 make a rule — make it a rule

A 4 are —is
51 » 1 for the purpose of ~ ~2| 2Xo 2 2 with the intention of ~ 5 write — write with
~gt 28¥og ol=E JIX|1 3 have ~ in mind/with ~ in mind ~& &
Sol £3 Yk ~8 B M20] Ut 4 in order tov ~317] SIS E 1 a.in order to study music
5 have ~ in mind ~Z =0 S1 Ut b. with the intention of studying music
2 a. for the purpose of buying
A e 1 W ol 58S FolE FH38] fI8f ml=ell itk 2 e b. with a view to buying
Atkskr] efsf el Al ASgch 3 o FHY AnfEES A 3 with marriage in mind
Z48lal IAEUZE? 4 Ue 2 AYE 7] Sl 2oko] 94
7Fch 5 U= o] zpalo] Aakst Ak Alzbala o)tk F 1 Mydream is to become a doctor.
2 | make it a rule to study ten hours in a day.
B 3 I have no time to hang out with my friends.
314 » 1 in order toS2A} = for the purpose of SHAL 2 think of ~ ~ 4 | don’t want to lose my friends.
ofl sl 242f5ICh 3 to reach an agreement Bf2lof 0]27] £IsH (= with 5 1 don’t know how to keep a balance between my
the intention of reaching an agreement) / of CtS0ll SHEAP} 2= Zoll = H dream and friendships. j
OI5tCt 4 in order o ™AL ~317| LA .
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A

sH& » 1 the only way for us to survive 2|7 & S5H B To
know is one thing, to teach is another. To know2} to teach= ZtZt 22|
Z0{0|Ct. 3 how to ride ~ ~2 Eh= HiH 4 $£EEf2 MO|= be +tok

HAHpe to be + THEAN Lt QHHZ0] To| Molct 5§ AFSHALE H|t

st= &AL Floll= toR AR 2loj4d 047t Tof + XA 0| EICt wises

5= oloje] HEAIO|EZ It is wise of you to ~7} EIC}, It is wise for
t ~

()

(0]

you to

5141 » 1 olzto] 927} Aobghe faat el 2 ZkEAE 2

3} S e wle] elolch 3 AHAA BHs W dofuleAn

FE AoIt). 4 WAE A7 ok HUT 5 Wel2 Esih o
3

i » 1 oRHAE E 07t Z2H it ~ toR ™ALL HEHZ 71801
T 22S 201 2 aske| HESE0Q! howHE 'how + toR™-ALE
HHECE 3 RS HlHsh= @A Flol= toREAR] olojy F0i7t
‘of + £X24,0] ECl rudex= Hltet= 2loje] HBAO|EZE It is rude of
you to ~7} EIC} It is rude for you to ~ (X) 4 be going to= "be + to2H
Al SEHZ HIZ 4 QUCH be + 0B ™ALE ZAIS X2l B30|0 2o ot
2t o2 7IX| shAdo| 7ksSHl, K7 IMe OIS LEMACEL 6 intend to=
e +to R ™AL HEZ HHE 2 U} Q& = QXS LIEHACE

A » 1 2E5P] Hof| ofAE FHlshe Ao 2 AZ YL
2 T4 YA AlE7IE of9A AHESh=R] EQltE 8 149
AsE o 2= FH3ch 4 Juliet Parise} 2235k o Fo]q]
o} 5 124] Hof| A7| wztsteH wha] 7hof g,

C

A » 1 QFE LIEHHE e +to2F-ALE 0} 2 AXSIALE HIHSH=E
YA Foll= toR ™A 2jojef 047} Tof + =X24,0| EICh unkind= H|
Hoh= oloje] FEAI|EZ It is unkind of you to ~7t EICt It is unkind for
you to ~ (x) 3 7I=Z0]- ZI=H0] FESZ 2Lt itS find2| 701, to
work ~& ZISHO0Z Il 4 the right thing to do (SHOF & 2& ) to
doZt he right thing= FlOIN F&AME FTICE 5 When am | to come
again?: 'be + o2 AL, HEfOICE O] BEE oY Ex= REQE F JIX|
alfAlo| 7hsstct.

aiiad » 1 H] G2 IS Rk Aotk 2 I EE stk 1
Ue s3dsky, 3 ve vt dohe Al g4 avhe 2 &

A HAE 4 oFlo] &2 dolth 5 Al EokE7A? (18)/AA
EoleA G7? (%)

D

sl » 1 FRSIZLE HIHEHE FEAF Foll= toRFAR| 2ol 07t
of + 2:24,0] £k sily= Hltsts ol0jo] HEAOICE 2 oRAAR B
2 toRFAL HIZ 20l notS E0| BTk 3 make CHE0l T=E0] to

read ~E F& 7I=H0] it0] ERsiTh 4 R FAE B SAE FSITCL

5 HIZ M= Z40] OfL|2t IS JHX|1 M= Z40|2 2 with7 ZRS|C}

s8> 1 3% ol Srh o b g 2 Ui WS 7
W12 Wk 3 Uhe A7) Aol B4 A FHOR AR 9
oh 4072 wEE Ae 47 gtk 5 9elt & o] Wasic)

E

a4 » 1 in order to study music = with the intention of studying music
2 for the purpose of buying = with a view to buying 3 with the intention
of getting married = with marriage in mind

S > 1 U AR SOk B Sl olgelob] 2tk 2 1
ot HutolAl d=& AF7 A8 =& AFIUT
315 A58 =

=2 B

F

ailA » 1 AP} El= A to become a doctor 2 ~& FEIQE STk
make it a rule toR2X™AF 3 ~2} 022 AJZE time to hang out with ~
4 ~Z 21 AX| ICk don't want to lose ~ 5 {EA| ~2 5loF &X| =
Z27ICE don't know how toS2=AL

T —_— \
| A 1=
B 1 orderto catch their food
2 asnotto seeit
3 to get some money
4 to learn

C 1 Let's go to the cafe to have a snack.
2 | ran for the bus, only to miss it.
3 Take care in order not to lose anything.
4 The eagle returned to the nest to find its baby
gone.

D » Example answers
1 went to the library to borrow some books.
i 2 studied hard, only to get an F on the test. I

SiE » 1 R FAR| RAM 8Y & XS UEHE X0|H 'HatE 27|
lsiAatn siMe o~ QAo 2 ‘2FES E71 flsiMal= 2lojoict 3 o
Al 20l 2= SAE woke updf| Fi2tM 2= ZHE LIEHHTL 4 T8RS
227] flsiM 2= 2jojojct.

B> 1 GBHE 1Y) 918 AUPEES ALST 4 gk 2 Tue

ol
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%e %) 99 27h8 Ak 8 Kevin ot 2y Hof 4]
QUL 4 T TEAE 2] e 119

|E 2H5H & tolhAl in order toS £LC} 2 'B&’
of oju|E 25| & uff torhAl so as toE M7= T so as o] BEXS
LIEtHLH= toF
rder to2&AL= in order that ~ can/may/will

so as not to0|Ct, 3 ‘B HAH=E ‘so that ~ can/may/will
2 HH E& 5 ACk 47

= o £ 4

o IUIO

841 » 1 ANl wolg A7) $18) AnEE Ak 2 Ui AL
o el g Uokek 3 e £S F
4 oW AIEL oIS H197] $I3) olalg qheh

2 A

v
—
=}
[0
o
rir
Jm

B ozo mp X
4
o
il
N =
5
o I
o
>
6 1o

X2 LIEIS 20|22 102 HALE 0125101 to have
o foil onlyE MM S20|Lt Algto| ZatE Liet
Ch 3 ‘~oik| RER'S 2HE LIEIHS L0|22 EHALE 0|83
2 2 Qlr} oS AALS] HES oS HAL Yol notS EOICE, 4 A 39
ofl Sltath 2= I oS HAIS 0128 4 UCh ofnf o8

=
AlE BAME 8Y & ZutE LIEHADY,

2 4 hu

D

2 1 toRFAR BAN 8Y & =XM'E UEl= 722 20L 21082
-2
=

QM 20l onlyE MA SEO|LE HUS LIEFE 4 QAT

s> 1 A2 1 2l el ofe) 702
B4 %
2A: & 9 glol?

B: @43] FF3ed AldolM FE &oke].

c N\
| A 1 xpus s 2 20 Sopk 3ws z=glol |
4 27} Lol 2ol 22 SO

B 1 Ifyou tell a lie again,
2 to win the final
3 to know | posted the comment
4 To see her climb the mountain

C 1 to go with him
2 To be honest, nobody willlwould] buy your old
computer.
3 not to meet you
4 to make matters worse
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D » Example answers
| DToseehim 2)Tobe sure I

e » 1 28 THE RHFE 0FIAF0ICE 2 2ol Hols UEf=
to?’g)\koltf A 8o R M RO onlE 7WEf 3 =g WME
YOI, 4 SAthinkE FTHFEE 0RFAR] FAN 8H2
EM 7‘?_4 = LIEHHCE
st » 1 &2 Ll Lki I mEjof] Aol 2 v 2
Il Sz 71w 7ok 3 41 ‘jeﬁe At QAL of7] &4
=AY Fok 4 7 WA Es P% e 5o 27k et Al A
T A=A A 7ok

B

a4 » 1 &7|M To tell a lie again ‘271'S LIEHH= tof™ALO|CE ‘=7
2 LIEHH= toR8AT = RUHEE 20| £ 4 UCh 2 ZUH if she won
the final& toR™AMZ HHECE 3 ZZAE if he knew | posted the
commentE toR™-AITZ HHECE 4 ZZE If you saw her climb the

mountainZ to £ -AMLE HHELCE

on

i

A1 U E AREshY 8 we it 2 A5 ofjw 1
3R ok 3 Ut =Be 99 AL ¥l Williek 52
Aolck 4 17k HARHE A% Bw 17t A2} Aeelojet
A& 55 etk

e

(@]

A » 1 12 87 7FH — to go with him 2 £Z!5| — To be honest
3 HE 2 9HLbH — not to meet you 4 AATtAMOZ —

worse

to make matters

D

a4 » 1) To see ~, youd think =& ‘~2
CFel £Lolct. 2) EIZt Fofl ot U= A2

toRFALL USCE 2UY sureZt S07H= A2
Ch

Hi
=2

o be sure(EI210/)0

siA1 > o] AR W AT Folth 18 Rl I7h Wl Argole
S AZREE Aolet, et i 93 Algoltt, 1o Rmge 3}
akaloleh, 1 gHRolA o), S5 i shaklol)

Vg
I A 1 055p7| ofgi2 |
2 :Dil'“c’ [ChA]
3 27| &E0E2]



4 MRIX| XH= ZIS 2 HoL /o2

B 1 is kind of you to give us your hands
2 js easy to talk to our teacher
3 to get ared card

C 1 |sthis water good to drink?
2 He was shocked to see the survey.
3 I’'m sorry to miss your call.
4 He must be mad to go swimming on a day like
this

D » Example answers
1 sorry to hear you've got the flu
i 2 foolish to walk in the rain without an umbrella i

sHA > 1 EBAL difficulte] 2l0|E SPYsH= toR Rt AR 8ol
2 happy & HEE LEHE A Fl0fl 2= o2 ™A= AFo| #QIE Lt
EHHCE 3 difficult, easy, hard, impossible, good 52| Al Fof| 2= to
BEAE 8ol on|E shdstict. 4 O*°| At st THEte] ZAE
LIEt= o FHAOICE BE “~oICiL], ‘~oh= WS B, ‘"~z A2 &
oF S22 siAfstict.

a4 » 1 ARES2 olsfslr] ofHTh 2 e SHEE w71
obge ¢7] offrh 4 @ 12712 Arh 2y ALE A

s » 1 toGATE ZZH0IL IS LEHE= @A Flofl 2 = Mt is ~
of 282 to -2 HIY & £ QUCL 2 difficult, easy, hard, impossible,
good 52| &AL Floil 2= toR™AL= FEAIC| 2In|E SPYSEHC. hard to
understand O|a5H7| 0242 3 excited, glad, happy, pleased, sad, sorry,
shocked, surprised, angry S 272 LIEHL= S2AF SOl 2= o ™AL

= ¢del flolS LiEfHT)

A 1 2 obohy FdstEe. 2 98 Alde T A
717F 4t} 8 11 Al YErfEs wold st Yo

54 » 1 good to drink OfA|7|0f] #ES 2 be shocked to ~ ~alilAM &4
2} 3 be sorry to ~ ~allA O|QtSICH 4 '~SICH7F YD 2 A}
Off CHSH o] 2HE LIEHAE toR™ALS 2Lt be mad to ~ ~38ICHL O]

D
SiA » 1) 29| /OIS LIEHE toB™AIS 20} 2) You were foolish to
walk in the rain without an umbrella, (= It was foolish of you to walk in

the rain without an umbrella,

5141 » 1) U7k Sl Azcks 24 Sold gL 2) A4k
% glo] 9142 Arhy ofziAgle]

Ia
| A 1too 2 enough 3 for 4so |

B 1 She speaks too fast for me to understand.
2 Kimchiis so spicy that he can’t eat it.
3 Theriveris so deep that you can’t swim in it.

C 1 Mathis too difficult to study alone.
2 Are you clever enough to solve this puzzle?
3 This song is too high for me to sing.
4 She is not old enough to have grandchildren.

D » Example answers
1 is not old enough to buy.
i 2 js expensive to buy. i

aiiE » 1 too + SEM/FA+0RFAE HF ~allM & 4 gt 2 ¥E
AL/ZAL+enough + o AR ~& 2HF E25| --5iCt 3 oo+ HEA V—‘?‘—
AL+ 0B AL TE0IM 02 FARR| 2ol F0i7F 22| F0{2} CI2H,
YA ol Tor + 2HA,S E=0h 4 Moo+ BEA/RA+ toRHAL E
'so+ BEA/FA +that -+ can't2 HIH & 4 UACL

st » 1 U= VR TeiA] A& 4 gloh 2 ol WE A=
2 &tk 3 1 A= Wk viAlelE v 2ok 4 2 3RS Y
T 2t 7F Fakek = glgieh

o]

si4 » 1 thatEel 017t 10|11 2E2| 07} she0|2 2 to2 ™AL 2H0f| ‘for
me'E 20f MESITE 2, 3 Moo + HEAEAL+ toBHALE "so + HEAYE
Ab+that -+ can't,2 HHY £ 4= UCH

4> 1 U U w2l Wt dobES 4 gtk 2.4
A VR 9 7 B 4 gich 8 ol VR golA] i
o 2 gk

A1 R ~BHM B 4 QI too + SE2AY/EAL+ toE ™A 2 ~EF
o2 S&29| -olCk FSA/EAL+ enough + o2 -AL 3 toR-AR] 2jofy
EX9| F0{2t CI2H, o2 ™AL 2ol Tor + SX24,2 20{of 5t= A

-

off Z=elstct 4 ~& BE S&23| ---olChk FEA/EA+ enough + toF AL
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514 » 1 not old enough to buy AZ|0 22HEIX| 942 2 expensive to
buy ALZ[0f| H[4A

a4l » F3E FolE CDEdolo]
AHg 72k 1d AR 2099
oMY Ax 2597
ORE AP7lell 1] eefEx= ookl 2 I

1 £ A7lo]
o,

e
I A1 oy |2 Z1M5| sict |
2 XtREAESHA] LhA LsH2t
3 2|7t FaRict

B 1 are certain to agree
2 js likely to be back soon
3 are sure to see no animals before long

C 1 iscertain to win an Oscar
2 | am ready to enjoy
3 ltis likely to snow tomorrow.

D » Example answers
1 is more likely to win
2 are not ready to vote
i 3 is certain to win I

;

ai& » 1 be anxious to ~ ~Z 75| HsiCt 2 feel free to ~ X7
[E517] ~2 STt 3 be afraid to ~ ~517|12 FEHYSICH

sia > 1 2 AY ATHE T3 9T 4of B 2 oJFe] glo)

AEA U w3 vl Hsk W)zt TF—%%{T‘/P.
B

sHA » 1 Mt is certain/likely that - Tcertain/likely + to2 ™AL, 2O 2
HHY & & Ut 2 r(:ertain/likely+to—.—c;|)kh T2 Mt js certain/likely
that -+, 22 HIFY & 4= Tt thatEe| SAtol= wilg 2Lk 3 thatEe] 0]
wes EH9| F0Z 5t "sure + toF ™AL FEOZ HHELC

sidd » 1 250] gefE & A
-

2tk 3 U vt
FAE}
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4 » 1 HEA] ~3ICE be certain to ~ 2 ~& ZH|7t Z|Ck: be ready to
~ 3 ~& 71 ZLC} be likely to ~

D

s » 1 TH SEE 28 Obamaol tet XIXIR0| 7he £0h 2 & S8
At 5i20] 12 ko] XIX| MES HOID YOS OFF| 78 WS HelX|
ZH|7L O =l e 2 = 4 Ut 3 WPOIAME 2Ht0}F X|X|E7} 24780|1,

& £ 53819 |4 fHteE= 270H(538+2+ 1)0|22 23H0t O PoH
0| 2SI

siiAt » 27037} o]7]= ©] Basith 1 o oA Hd, enpul
7hold 2 Zrh 2 NYTof| &Jah, FApe] 529 1o] Fxd
8|7k <t HSleh 3 WPoj| oJshd, enpurh 2330t o dow &
Feglo] ol

r
I A 1 get—toget |
2 foryou —you
3 he —him
4 to not reveal — not to reveal

B 1 He asked me to hold
2 Schools must teach students to act
3 Sheinvited us to have

C 1 didn't expect Dad to do
2 caused them to cancel the game
3 teacher allowed me to skip
4 captain ordered them not to fire

D » Example answers
1 asked me to recycle more
2 told me to use less paper
3 advised me to shut down my computer I

S » 1 expect SX0| toF AL EX0{7} ~6t= XS 7(Chstch 2 want
X0 toR2TAL SH07L ~57|E HStTHERRICH 3 tel SX0] o2 FAL
SH07L ~SAIE ZSIT, SXO0IA| ~ot2tr YsiCh 4 toR-AR] 27
2 toE XAl 2ol notE L to not (X), not to (0)

S > 1 el 1F BS WIS A 2 U i 25
@ /1S viich 8 7ol 283 stk o, 4 1d el
HE Ba1 ehplcka ofe,



B

& » 1 ask SH0| toFFAL SH0P7L ~SIEE SF[RE, 2Fstct
2 teach SX0] o2 ZAL X007t ~SI=F 7IZX|CH 3 invite X0 toF
AL 25015 =oh[=F]6t0] ~51A| St

s > 1 1= Vo] X718 B groeta g, 2 sh S
o et ARl ® BEE 4 YuS slm Aol ek, 3 Tds
<22 zojeld 299] 7AEa AU A Y,

C

Si& » 1 SH0{7t ~5I7|E 7|tHSICh expect S0 toRHAF 2 FH0{7t
~5| PHSCH (2X07F ~51A| SHe 212 MB3H): cause SX0] tof
HAb 8 2H07t ~5 SEESICE allow + 2H0 + o2 ™AL 4 2H0{7t
~SIE S HHSICE order + ZX0 + o2 FAL

D
si& » 1 ask X0 toRFAL FH0IL ~olEE QLFY[RE ot

2 tell+ S| + o YAL SHO7L ~sHAIE Esttt, SHA ~sttn
USICH 3 advise + FH0| + oS HAL FH07L ~ol=E R[S 1]sICtH

a4t » o] i} BASEAIUZ? 1 I5L oA ATEE

o shekn Pk 2 TEL o] oIS 9 Acku B 8 1
S8 U BFES 24 S s AFES nekn S

Ve

! A 1tocome—come 2 carried— carry |

3fell—fall 4 E21xele

B 1 She felt the spider crawl
2 Help her to believe that
3 doesn’t let me have snacks
4 | watched them bully

C 1 He saw her fall from the cliff.
2 The cold weather made the lake freeze.
3 Will you let me know
4 We heard the birds whistle

D » Example answers
1 made me color her hair / close her eyes
2 Grandma had the hairdresser color her hair / him

| hum i

B4 > 1 XIZHSAH SO + HHRYAL 2 AISAH+ 20| + 2R
Ab B XIZHSAH 2HO| + UBRHAL 4 AIHSA make®| SH0{Q! me Cf

Folct,

oo
HO

O S HAL study?} Mooz 22

84 > 1 U 150] Sojes AS 2@l 2 1 WAE Yo
0] 7MHE 57 STh 3 oAl Uhs o] Hojxs selE
9t 4 Ushe) 1 AR 2L 87 6% ol

B

A » 1 X[ZSA+ 2X0] + FSEEHAL felt the spider crawl 2 helpe
SX0| CH20] toR ™ALt ZRE™AL & CF € 2 UCh: Help her (to)
believe 3 AMASAL+ZH0] + HFZHAL let me have 4 X[ASAt+ =
Ho| + RFEEHAL watched them bully

341> 1 T A7) thel 92 Fele 2t AL Lt 2 v
7} ApAlo] & Algrolek WA mely, 3 vk 7t 7H4
A w7 et 4 U 150] ofdl ofol5e BBl A

gl
C

s » 1 J17F HOX|= AE ERUACE saw her fall 2 ‘F2 M HE0| S
74 HACL'E ALSAL makeE MA F=fotH 'F2 ML S5 27
gictel ojojzt Eok &, TAIISAH SX0| + HARZALC| FEHQ! make
the lake freeze7} ElC}t, 3 XEHH| &2 FMIL: let me know 4 ME0]| X|
M= AS ELCk hear the birds whistle

L

tlo o

D

s14 » 1 made + 2X0{ + FEEXAE made me color/saw + 2X0{ + &
SEHAL saw her close 2 had+SX0| + ¥EEHAL had the
hairdresser color/heard + 280 + &2 ™AL heard him hum

41 » 1 B Uk BlelE gas) Seka shAlc, U 1y
7} 8 A Qs AL Blth 2 YelUis vlgAfatE el o
28 QA sk, 1uE 17 BUAE 2SS9

- \
! A 1say 2 couldn’t 3 said 4 bet 5 favor !

B 1 noreasontoopposeit 2 |couldn’tagree
3 bet

C 1 | couldn’t agree with her more.
2 | don’t see why
3 voted in favor of the proposal

D » Example answers
1 You bet I’m going to the party on Sunday.
2 You (can) bet your life she will keep her promise.
i 3 | bet Korea is the safest country in the world. i
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A D 1 forher—her
2 begin — begin with

a1~ » 1 You can say that again, Wl 20| Stof /L4 2 ShH ZERHCE

2 | couldn't agree more. Lt= FMXo=z 7'.‘_“85._ Ct. 3 Well said, 2t 3HH &t 3 enough loud — loud enough
&iCt 4 You bet ~, BHA| ~3iCt ~5H= AL SHAISICE 5 in favor of ~ 4 beats — beat

ofl ZtM5H= 5 drink it — drink

S41 » 1 ol u] wo] o, 2 U= HHo R eojs) 1A A E 1 couldn’t

olof, 3 wuh 7ok W W ki ATk 4 U Wol, IUE 5 2 no reason

o] ok Aok 5 3| dHo] 11 Aljte| sfskar 1Al & 3 why

e g ot 4 that

5 bet
B

A » 1 Okay2tn FHESIFRSEZ | have no reason to oppose.
2 "Absolutely. &= 5| S2lstctH= H0

F 1 The princess grew up to be a beautiful woman.

|22 | couldnt agree more. 3 Of 2 She was old enough to marry.

coursel = You betl 3 The king asked people to solve her problem.
4 A man made her laugh.
A e 1AL S8 Urta BHe7? H 5 People were pleased to hear the news. J
B: 18, Y7k \
2A: 71 A7) AT =3kl
B: gtof, A
3AI Y H? a4 » 1 is impossible to guess FE[ZIA517 |7} £7Hs3ICH 21is sure to
B: Z&o|of! . = ol SIAl= o =
stay in ~ ~0f| HE1 U= Z40| SAISICEH 3 let him do it 17t 224 sHA|

C (312h3tct 4 is violent for children to watch 00|S0| E7(off Z&iXo|ct

5 too ~ to - T ~ollA --5HK| Rote
1A » 1 L= (auolA) MEo=z FRMSICE | couldn't agree (with her)

more, 2 Lt= o ~QIX| 227JCt | don't see why ~, 3 EEE &35 1

o> 1 4] SIS SES) Wi, 2 Seil

H|Qtol| REAHCH voted in favor of the proposal Zujo] WEW 9Tl 3 17} 1 s Aol sl a4 shet

b 4 71 9l ojoj5o] o #ﬁ@olu}. 5 U 294 U2
47t glol,

silE » 1~3 bet2 ‘=S ZC}, WIS Sit7} Helie] fez, RS st
Al 22 ol Tbet ~,, You bet ~,2| HHC R £ACE B

_||0Il

314 » 1 in order to= to & so as to2 HHY & 4= UCt 2 1t is certain
that you will ~ = You're certain to ~ 3 cause + ZZX0] + toB2FA =

make + 22X + FEE™AL 4 so ~ that we couldn’t = too ~ for us to
TEST 8 UNIT 56~63 5 woke up and found himself = woke up to find himself (o2 &ALL| EA}
‘Cniuining N\ | H8Y 3 EIE Uer)
lA1b 2d 3e 4c 5a |
atiAl v 1 H7F Qs AeE S Favt otk 2 He £33
1
S st S 9L W Aok 3 v 94 Zol ere) 4 Hu 2
certain to get a special discoun = N -
o B uE £5RFAN SR dUsE W ) @
3 made the river flood 5 Gulliveri= 7jolLh H1] 27|17} whuleko] So] glrii 712 okor
4 too bumpy for us to play tennis o}
5 to find himself tied to the ground
C
C 1 Areyou ready to order? _ _
: 541 » 1 be ready to ~ ~& xum £|ct 2 be easy to ~ ~ol7| Ect
2 The plot wasn’t easy to understand. i ]
3 listened to me speak (L7} 25t HE SACH: listened o7t X|ZHSAt

3 Hellistened to me speak English. 017| 20l 2X0f me CHRO| FSEEAF speak?t ATt 4 had them fil
4 The manager had them fill out the form. out (IS0 LA =tMEH BHCP): hadZt AKEEAL0|7| D20 2=0|
5 wouldn’t be surprised to hear them marry. them CHSoll ISERAL il outo]

3T o

MLt 5 be surprised to hear ~ ~&
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Tlol
9'|_|
jinl
rr
N
o
nn
inl

1 =2lCt / hear them marry (20 X|ZFEAF+

20| + AHLFAL

A > 1 FRSAASUZ? 2 1 AL olaialy] P ok
3 12 U7k Gol Waks & EUT 4 52 2504 A

o] 7|25 @t 5 U= T1So] AFdE WS Solx kx|
& Aok,

o

4 » 1 ask her toR2™AE Al ~5l2t 25160 2 to begin with:
1, BX, MS0l=, MSFE 3 enoughe= AL -r|0” {xIsto =

THECH 4 felt= X[ZSAO|22 ZX0] CHE0f| AFRSZATE M010F
5 29| 09! the water7| o2 ™ALC| 2X0{0)7 |= SIEZ 2 &

O MX| gh=Ch

ol

=

{0
0o rxonx

Jooro

bl

S

m

SHA » 1 amazing =& 25t 7|7t 2t5l=, AASE | couldn't agree with
you more, X0z SZt0[0F 2 | have no reason to oppose it. B! O]
7t @Kl 3 I don't see why not. ot & O|R7t SiX|./ZH5| T22HOFX.
4 You can say that again, 4l 20| %f0f. 5 serious TIX[SF You betl 22
OJx]!

siA > 1AL A EEE

B: A& o & Fitolof

2A: O ZRAEZ A& 3= A ofuf?
B: R o]371 A,

3A: $-2= 24 WA sof Hri,
B: gds] oA,

4A: 05 U Gy E,
B: U] wo] gof.

5A: U H4loloF?

B: &&0]A]!
F
SH& » 1 grew up toR"™AL ~: XI2tM ~7t ElCt X2t ~& S| Elct
2 S2Al + enough + toR ™AL ~& 02 (EE35]) -5t 3 ask A toF2H™

Ak AGIAl ~olf E2tn 2ESI 4 make her laugh 11
pleased to hear ~2 1 7|85t

HE 7|t 5 be

e
! A 1 He was responsible for not reporting a crime. |
2 My mom looked proud of having passed the
driving test.
3 lappreciated having been elected the
chairperson.

B 1 using 2 changing 3 leaving

C 1 Supporting my family is not an easy job.
2 A man suggested switching airline seats
3 is telling everyone your secrets/is telling your
secrets to everyone

D » Example answers
1 turning the volume down/turning down the

volume
i 2 carrying the baggage i
| J
A
A » 1 SHALS| B™H2 SHAL Yol notS S=Ct 2 STAR ARYE

"having + ZHEAL JOIE} cf. Thaving + ZHHEALE
M AlTol| Lt US LIEHHCE 3 SHAR|
been + ZHEAH0|CE

f.
THO| SAS| AlMIE=CE
otz

£=3512 Thaving

on

41 » 1 T= HES K I51R] S Qo] I3l ©g] ouj=
SH ARl AT AE Al shile A }%m} 3 U 3
o= AEE AL AAks] A

o>4
I

=]

s » 1 enjoy= SYAIE SX0Z FGICE 2 TR EX0l= BAHE
= HAFRHO| Elofof BtCt m2kM of changeZt OFLIZ of changingO| E|0{0F
fCt. 3 consider= SHAIE SX{2 FSiCL

|'0II

14 1 SEEE B AR 2 e
S 3 Al e ol

el e

=1 UL A

i » 1 '~olE A EE VAP IE BE SYALL REA FEE FESicL
supportS SHAL HEZ HHEO] FO{Z $HTt 2 suggest= SHALE SH
o2 Fsict. 3 ‘~ote Z0|22 SHALRZ STt 047|M teling =0{o|ct,

D
S > 1 minds SHALE 2x0iZ Fsict 2 FEIAC 2H0j= UL =
& TIAF0| El0jof Bict,

a4 » 1 George, &) & &0 9 <F G712 2 T TAA 1
e 5 4 Aok

UNIT 65 EXERCISES
T e — = = = = = = = = = = = N

! A 1 excuse for |

2 succeeded in
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3 anxious about

B 1 |twas a great experience driving
2 |t was no fun watching
3 donating your books to the library

C 1 |twas no use asking for help.
2 We blamed him for covering up his faults.
3 It’s worth checking the timetable.

D » Example answers
1) for being late 2) no use making excuses 3) about
i acting on stage 4) of being on time I

D — >
A

SiE » 1~3 SSALE EFSAI| S0 ofL|2t TR|AS| SH=E AL
St

S » 1 Y7} 2007 Bl gk ol§7F Wy 2 s R
A71% AEE Aol gitk 8 = A9 Al S Alteks Ao o
s 442 she A 2otk

i » 1~3 (730]) ~ -ing(ZIZ=01)2] T+Z0IC

a4 » 1 ARl RS e A2 A Aol 2 1 S+
718 S B A2 ARtk 3 ] A& =Afde] 7Ret A

1o AT
2 74 9= ol
C
A » 1 22X HHO| Itis ~ -ingO|Ct. It is no use[good] -ing ~&HE A
2olrt 2 MM (S)BAME SHOZ FSich 3 88X EHO| It is ~

-ingOICk It's worth -ing ~&t 7kx|7} QUCt

D

S » 1) TXIAC] SMOZ MO SHAL 2) BEX HBO| tis ~ -ing. It is
no use[good] -ing ~all ALt 3) TX|AIS| 2X0{Z MO ZSHA} 4)
Tx|Ae] 2X0{E MOl SHAL the importance of being on time FMIA|ZH0]|
2= Ao 5o

E A7 M ARRER|S Ayt oAl MEE s &
S8l dolghe Ae 9L EUTh T A= He F
T 3ol s vr swA 3 d5e sh=Ekal B
Al§-aL ZeksUTh AEAA s ol =A @A 2= A
o] TasIthil & AEsHaGh ol ol i) AYE7
A shMoprt FE whga AW EFTIYCR AT & Lol o

o 715 s Az

44 | Answerkey

UNIT 66

, DS
! A 1doing 2 tomake !
3 looking for 4 playing

EXERCISES

B to transfer / living / tending / to leave

C 1 I’m hoping to discover
2 He narrowly missed falling into
3 You may risk losing your job

D » Example answers
1 avoid using
i 2 hesitate to tell I

A » 1 feel like ~ing ~3t1 A0 SICt 2 fail2 to R ™HAIE Z2X0Z F
SiCL 3 give up2 STAIE SHO0IZ FGICt 4 suggeste STALE 55
Ol2 Fstct,

atiad v 1 e o o4 IS StaL AR ¢Skt 2 e wimE 4
AEAS WE 4 QAT 3 TES T Al Ale] ThAE B
A& Z7IFct 4 W o] W ol H-E5 skl AR,
B

SH& » 1 decide= toRHALE SXOZE FSiCE 2 minde SBAE =

o2 FITE 3 enjoy= STAIE SHOZ FSITL 4 agree= to2 AL
20|12 F5t)

Uy 1%

3141 > A: H] ohab A LA REE A2 7P| SHe]?
B: o}4) ohk it thE Aol Ak 2 AlofatAl Aeta

#3k4el.

A 9?

B: 9fmbs 2] 4 Flol Qe B 7HrE 2 A% Fota
AL

Al U7} o] dnkis o] ZhSo] A Aba gl & Wi
£ o W E mEcks wol Tt
C

& » 1 hope= 0RTAIE SHOZ FSITL 2 misse SHAE 55
2 FHBICh 3riskis STALS SM0j2 Fsict,

2

SHA » 1 avoide SBAIE SHOZ FSICE 2 hesitate= R HALE 55
o= F[Stct,

B> 1 7 AellolelS o g3t Tk A4F W, 2 T AL
W FASH hA T A sk,

ol



UNIT 67

L L
! A 1 shaking hands with Robert Pattinson !
2 to buy some sandwiches
3 not giving your phone number to him

EXERCISES

B 1 topickup 2 toturnoff
3 adding 4 watching

C 1 He stopped taking strong medicine
2 regret to say that the service is no longer
available
3 remember to attend the meeting

D » Example answers
1) regret to inform 2) stopped receiving
i 3) tried hard to maintain i

o

si& » 1 forget + STAR (A0l B 2) No{HH2ICH 2 remember + o
HAL (L3He AI-OIM 222) slior & Y2 716 LiCE 3 regret+ S
A (@0l & 22) =it

541 » 1 19+ Robert Pattinsoni} oF<=3t 715 % KHE Qx| oF
< o} 2 e 2] MESAE Z Aok B S 7]l
el 8 U oA Wl M3t EE £ e AS $3]T Ao

ok
B

A » 1 stop+-ing: ~Sh= AS HELL stop + o B H-AL (2

Ab) ~5t7] flsil HxECH 2 forget+% r: (@7Holl 5t L) ojmz|ct
forget + toRHAL (Lsh= AI™OIAM Y2 2) siof & g lofHz|ct
3 try + SHAE (0 Zapt LEEX]) Al &0t ~& (Alz)sh 20t/ try +to
HEAE (032 Y8) stafm =25iCt SIMCEH 4 remember + SHAE (2HA
ol 3t U2) 7|2t5 LIt / remember + to 2 ™AL (ZEt= AI™OIA Ao =)
aloF g LS J|dah Lt

mlo

(E ol to2 A

B7] el Aot 2 S W) 7hAE &

aiiAl w1 W7 A

T AZ YA vl 3 Y Fofl &u& T ¥ol BAT = go]
FAEAA 4 Y= T FIE = 7190l YA gt

C

SH& » 1 stop +-ing: ~ot= W2 HECH 2 regret + o2 ™AL LI AAS
otz M M ‘QUABAE ~QS etajzrclol &= 3 QtoZ Sof & o=
2 Tremember + o2 -AHLE 2L}

D

st ) LEE AMS UHFE HEO0IER Tregret+ 02 YALE 20

2) 5t U2 Fxlot= W02 2 Tstop +-ing,E 2Lt 3) AR ot 8 2=
Z40] OfL|TT 5241 =345t 20|22 fry +toRFALE £2CH

3121 » Anderson A24H7.
SHAHAE oo AAIAN FYPEAAZ B3]7]
oo ormuUch A3]o] A ¥s} g ae] AlHL wh
A 71z FFUTh sfQ] ARSI AL+S FAISH
2L off S AN S ol JlsUTh #13] A ARle]
WS 7HAFAA A=Y
Aoz £4E w3,

Nagwa Kumar, Make—Your—Wish International 3]%;

O N\
A 1 RIZ 7| |

2 th7|[ZXl] B2 A

3 sa18 ééif A

B 1 |osing the game
2 making too much noise
3 his speaking French as fluently as
4 your coming to help us

C 1 your/you being here with us.
2 Kate’s/Kate moving out of
3 their/them getting rescued

D » Example answers
1 happy about Jane’s/Jane being

i 2 surprised at her singing i

SiE » 1 SYAL 2 BREAL 3 SHAL 4 SMEAL

atiad» 1 I A8 d7|Ae AR 7HE Jioh 2 ¥ ZRAdl
7] S M7 = o ek 3 92 AP et AEE
T2 Zolth. 4 I5L obloll A b e T AN
Qlet.

B

S > 1 forol 2H0jZ MOl SHAL 20| BH0fet ST ool F
07t 22 AJROIZR hiss TSItk 2 kepto] BH0IZ 401 SuA}
3 hisol 2012 M1 SHAF 4 youre] 2H0{Z M9| SHA}

A v 1 Y= o AR oA 7] selell iRk s St
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2 Y o]0l A Ui ATHA HEAL, A L 2felA
BRYP 3 U W} ek TyselE fAH kA mE
Ak 4 9ek 982 okt o Uk weke on TR,

(@)

si& » 1 FX|AF CHZ0ll= BARZO| 2fof Stct w2k SHAL FEf7t =|0fof
Tk 2 moving®| 2lo|4t 0|2 Kate's = KateE '20{0F St 3 TX|
Ab of@] 2X0{Z2 SHA} getting0| 0|1, getting®| 2|0|AH FOZ their &£
= themO| ER3IC}

ol

ron

o

SiE > 1~2 SHALL| 2lold 0= ARZ{0[Lt SXZ0| =|ofof ST,

a4 > 1 19 PRl Janeo] Ffo] 22 o) P3|
2 3 17t obEEA tedfste Aol Hehside,

ot

k.

e ~
I A 1vyisiting 2 have 3 rearranging 4 donate |
B

1 see 2 have
3 walking 4 having worked

C 1 prefer buying books to borrowing them
2 am ashamed to tell you what | did yesterday
3 was used to treat wounded soldiers

D » Example answers
1 looking forward to seeing
I 2 am (getting) used to walking on crutches I

s » 1 look forward 02| to= FIX|ALO|1L, FX|AL CH20ll= HALSO| 9F
OF Stct w2k SHAL SEf7F E00F SHCE 2 be pleased to + SAMYE:
~&t0] 7|8Ct 3 are opposed 02| to= FX|ALO|CE, wH2tA HX(ALS] 22X
o2 SHAP} 2fof SiT} 4 agree to + SAFRIE: ~6h= o ZHAISICH

841 > 1 AL Hol B 7He A4S shemrela ot 2 UE
WL ZJoiE A Slo] Zme 3 TEE WE ARAss A
o etk 4 20) BE sjiSo] A AHAle] 7]3sks
Aol 24,

SHA » 1 to+ SAFEE 2 used to+ SAFHE: ~5t2 3t 3 be used to
~ing ~oH= Z40f| AUXSHRIEH 4 admit to + having + ZPHEAE ~8F HE
QIFstct

46 | Answer key

A > 1 T U7k C19) Helol 4 fejshs g B sehs 7
ofT). 2 b= 4R Algold AYe 9T firh 3 19k ol
stito] 717] 918 4kmE A Ao ol&elAt 4 15& 209
ol vjel pelo s FEF AL ARl

ol

®om X

(@)

ail& » 1 prefer -ing to ~ ~HC} -2 MS3ICH 2 be ashamed to + SAHA
& ~she AS E1A o7Ict 3 be used to + SAHE ~517| sl AL
|t

D

5141 » 1 look forward to2] to= FXIAIO|E2 to CH20| SAF ¥IE0]| oL
2t SHAP} 2ot §icf 2 belget] used t02] to= FXIAIOIZZ to CHSOH|
SA 20| OtL|2t SHALZt 2fof Sict.

s 1 Sl 2 AEA O U B 4 1S sehska 9ol
2 L B g 2k Aol olshiiol.

( )
! A 1taking 2 HEZe o2 3 callng 4being !
B 1 prevent 2 Upon 3 worth
C 1 Thereis no washing
2 spent the last 3 years searching for
3 made a point of turning off
D » Example answers
1) couldn’t help looking at/couldn’t help but look
2) kept me from keeping a dog 3) had difficulty
i convincing 4) make a point of feeding and walking |
-— J

a1 » 1 be busy ~ing ~&t=2} HHC} 2 cannot help but+%)\}9.;4:§
(=cannot help -ing) ~3IX| 942 4= giCt 3 make a point of -ing & F2I=
7|20 5| ~aliCt Q8| ~6te WS WUX| YLCt 4 far from ~ing Nif

E
7{2|7t H, ~0| OfL|2t 23(2{ 1 Hithel

rr HJI

SiA1 > 1 L SHSTEA FEet vhgel, 2 TuE Iy
o) oPlE B BlAS AH 9S4 Golth 3 1 ol ofniy]
7 Asksh A oA F=tt 4 Peter= A5 o]7|2olx] ¢tk
S f ok vk £2 AR F9) @ Aol

or‘hj

B

54 » 1 prevent A from ~ing AR StHZ ~5t= AS 25t sttt
2 Upon[On] -ing ~aIXHOkRE 3 be worth -ing ~&t 7kX|7} QICH



A » 1 0] Bl SHAYE o] Sl oboll A EUELS A}8E1A] &
A ST @tk 2 WS SAui, U B Ad 5
LAt} 3 119 Algke mE 717} §igl

C

a1 » 1 There's no -ing ~&t= #HE 8715ICH ~2 & £ gict
2 spend + AlZH/E/E +-ing ~ot= Ol AlZH/E/==S S0l 3 m

ake a
point of -ing B+ Fo|E 7|20 A5 ~oict 23 ~5h= WS UX| edrt
D
5l » 1) cannot help -ing(=cannot help but+ SAHE) ~5iX| &5 &
QICt 2) keep/stop/prevent/prohibit A from -ing A7} ~&IX| 23IA| SICH A

7t ~ste WS gt/2XI6it ) have trouble[difficulty] (in) -ing ~&H= G|
02182 ZiCt 4) make a point of -ing ALt FO|E 7120 &S| ~5t
L}, 28 ~dt= WS AX| ATt

Sa > 0%, IS5 R IS Ath) ofdl oSS BA) g
47} glgltk, uks A W7t A4S 71EA) 2P SR b
£ A% NS AASlopirk itk 2eh U olnkg 5417
717k ofel ik, W7k el QIx] 9k A elola AbA]Y R oF

42 B3 LPAOF ok W7k A1 degstes slerekalc,

|
A 1 against 2 objects 3 think 4 disagree

B 1 Most voters are opposed to the taxes.
2 | partly disagree on the plan.
3 Are you for or against the death penalty?

C 1 |don’tthink (that) it's your faut.
2 | disagree with what you say
3 object to offering

D » Example answers
1 I’'m forfin fovor of] the online game shutdown
system.
2 I’'min favor of[for] sex education for middle

i school students. I

141 » 1 against ~ (~0f| HICH5t04) against] EHR|O1= in favor of ~ =
for ~ (~0f ZtM5I04)0ICE 2 object to ~ (~0i BHCHSICH (=have an
objection to ~) to CH20ll= HAILL SHARZ} 2CF 3 | don't think ~, L=
~iE OMLj2t MZISiCt 4 g OAtS Z&s| EFsHE “I couldn't
disagree more, (LH= X5{ Zolskx| §201)'alm & £ Qic}

sHA > 1 v shdol]l ZHgolof, widob? 2 v = WSS dofet

o) Ty mE W] uitalth 3 A: Y7k 1 el whd 4 9
X gkol? B: A, thz 29 2 24 el 4 7k 3ol o
= g Ao Eofat 4 gle.

B

31A » 1 be against = be opposed to 2 don't agree = disagree
3 approveldisapprove] of ~ ~O0f CHall ZHA[ECH]SICE ZHE2 for, Bich=
against2 Zttts| Eoig 4~ QlCt

C

a4 » 1 | think (that) it's not your fault 2t SiE /X2 | don't think (that)
it's your fault. 2t Z0| | don't think (that) ~2 &st= 20| Cf XIHAZLCE
2 respect your right 2| H2|E ZZ3ICH 3 object to ~(~0f| BtChatCH):
to Ct30ll= AL E= SEAD} 2CL

D

G4 » I'm for ~= ZHYEE I, I'm against ~= BHCHE f AFS5HE ESHo|C},

I UNIT 64~71
.

lA1d 2e 3c 4a 5b \H
B

1 your having an interview with my son

2 | don’t think he is coming tonight.

3 She regretted not buying the green dress.
4 Who is in favor of the proposal?

C 1 finding 2 pick 3 sharing
4 not being 5 to wait

D 1 todrive —driving
2 to deny —denying
3EUReUS
4 to read — reading
5 to volunteer — volunteering

E 1 I'msorry about your[you] losing your house to a
fire.
2 | wasn’t aware of this being possible.
3 It was fun riding a bicycle in the park.
4 He was afraid of being forgotten.
5 She objected to staying there one more day.

F 1 about, naming 2 of, touching
3 from, traveling 4 On, entering

G » Example answers
1) | am against studying abroad 2) | don’t think you
can control yourself easily 3) I am opposed to your
i living apart from your family. I
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A

s » 1 insist on A ~ing AOIA ~&l2tn QFESICHAZCH 2 cannot
help but + SAFRS: ~5IX| 242 4 QUL (=cannot help ~ing) 3 prefer ~
not to ~sl= XS ZO0F6HA| 2Lk 4 forget ~ing ~8F Z[YU]S Hojtz|ct
5 remember to + SAAE: ~&F W[ WX| &1 ot ~& A 7]

ASIC} make a mistake A4Z FiC

-

aiAd » 1 o]= UtE Gower XoF AEstejal thae, 2 O
o Apditel]l fFu7F XA BA 4% ¢ gtk 3 v 1
FAE THALR BESI= AE FolskA| gttt 4 U 19

P ASE G RS A 9A S Foltt 5 Uk o] A%F
o

o &
0
=
w
2
s
N
rr
N
o
piies
[o
rﬁi
i}
o

s » 1 i—.‘-?—’—‘. mur% SEAL having®| oloj4 F0{2 SiCh 2 | don't
think (that) ~. = 20| Of XIHIAZLCE 8 regret not ~ing ~3IX| 42

Ag Z3lsit f 4 in favor of ~ ~2 FHA5HH

s4 > 1 U= Uk ) obE} Qe A2 Aeld gtk
2 U 17t o] 94 9 sk A4ze, 8 Tuk 1 %
4 22 A G AL Foch 4 7 1 At A

C

si& » 1 have difficulty ~ing ~5t= O 02182 ZiCt 2 ‘~ot2 FHCF2
o|o|Q! fused to+ SAHEE, 3 object to ~ing ~0i HITHSICH 4 SHALS|
BEHES SHA 20l note =0t BHECE 6 choose= 0R™AIE SXOZ

Flstck
S > 1 1 T ARS] el A4S Foh o] ofeie S 29
o} 2 Emilyl 24 2ue} AgshE A9 dth 3 1 % Al

A1l olob1 AAE| Ffchs o dithach 4 e 4
717 Uske A& wA Bohe A Holgith 5 15 A7E
AARSE7] 918 3t o Zlckelsl= gk

D

SHA » 1 admite SBAE SEE FStC 2 It is no use ~ing ~afl 2t
OF 28It 3 7ol YUoft U= K| = HO|=Z forget ~ing FENTH
Lt 4 AE = AE O2F= AO0|IE2 stopped readingO| =|0{0F SHCL

5 regret ~ing 8 AE F3lslCt

3 2S A7 QA % Rl 4 15 A
2o T ww gol %aicr 5 U =S 915 A B
3 AL T %L Holnt,

E

SYAL 20| ECf thatEel FOE ARZ0

SHA » 1 losingE AI25HH S

48 | Answer key

Lt 2MZoZ HiR0o| SHALS °|DI¢> FO0IE D= Ao Fotch
2 aware of2 AtE5HH ofQ| E"*OUP QI ojnf =X0l= FARIO|
O{0F S22 SHAL HEHE FGiCh 3 SHAPE —75—01 2ES 7130, TF
0| 1202 HiF= ZHo|ct. 1to] 7+To10|D§ HAL ridingS X102 5t
of Floll ==C}. 4 afraid that CHA! afraid of2 AR50 A HH L= 24|

olct ofel ZXo{7t FAFd0| = ofof sh= Zof
objection = object

514 » 1 U3 o] BHAIE AAE]A flelof 2 L= o]Zlo]
Hsstths S B3tk 3 BUANA AHAS B 2ol Anlg)
Qe 4 I A7) Qs Rlo] Felsich & e AYIA o
= o m5 gof viojsc

F

sS4 » 1 be pleased about ~ ~0fl EISICH 2 be aware of someone
~ing It ~3te AS =7IcHLOIRHCH 3 prohibit someone from ~ing
£t ~ale 28 ZoPl SICHEXIAZICH 4 On ~ing ~GtXIOFRL

A » 4 1 BELX= 59| oy|& Barbaraghll R2= A £o}
k. 2 Y= w2 A olE AdEge As gA L
3 FJH= A U= 5

So] Aol o7k 2E FAU. 4
S0l Sopbatula vise] 4 L AelE Sl

G

si4 » @ against ~0i BHHSHO, studying abroad 2I= St e control
yourself XFAS Zt2|5iCt easily €14 @ be opposed to ~ ~O0f HIHSICE
live apart from your family | 7tE10t HO{x| AlCt

41 > LFE ) ol E25kA ok, b o2 wholo] 9j5tel 4 #
SH 2ol Hieok U7k ob ofelehdl AplE 414 BelE 4 ¢l
ok Agztsl, d7k 7bSah welA AR RelE Ml U 71
2 73 Te|9g ola 4 =g 2 Aok

on

-z &t

Ia
! A 1 drowning 2 Wounded 3 lost &4 married !

B 1 Heisarising star
2 Sheis a trained doctor
3 It’s the sound of pouring rain.

C 1 Police found a stolen car under the bridge.
2 There is a screaming passenger in the bus.
3 The airplane (has) disappeared into the
darkening sky.



D » Example answers

1) blacked out  2) flickering  3) sitting

| 4 twinkling 5) shining 6) seated I

54 » 1 drowning child 20 WX §2X72l= 0t0] 2 wounded
soldiers EAESE 221 3 lost penicil 220{HHZ! HZ! 4 married couple Z

I W=1=
T

Tl
rol

HA

ol

55 1 Pt Bl whal otol2 Aok ek 2 FAGE 7
Lo WUoR ol5d Jolth 3 Y ofdE glojul due 3
QU7 4 AB/HUS AEHE F 547k gk

e
:

H

sHA » 1 rising star [HRE= AEL 2 trained doctor E2ZEE2 O|A}
3 pouring rain 20}X|= H]

si4 > 1 A1 12 S2j5E 278 E9?
B: T 3h WAY] we sl Axjof
241 9) A oA} OA1E P A AL o A%
TEAE B
B: A7 vhile, T 4eE ojxjala,
A Hol A AT} 4250 o a2
B: b w3l aejolck

C

a4 » 1 stolen car (=4 xp):

steal®| Z7EAL stolenS ALE3t0] cars $=AlSiCt 2 screaming
passenger (HIZS X210 Q= S72): HHS IIEI A2 TIYel o0l2
2 scream?| SMEAIS A} 5
sky (OIFYXIE 5He): HFYXIES FIdo| Lo|=z2

£ ME3I0 skyE =AML

SiCh 3 darkening
arken2| SIXHEA}

o

D

s » 1) £SEf T20ICH beSAt+ THEA (was blacked out)
flickering candles (Z¥7{2l= £2). £I1349| £20| U= EFO|CE 3 1kA
185 L20|Ct, TbeSAt+ SIREAL (was sitting) 4 twinkling stars (2ILt
HE): ZI840| ££0| QM= HHO|C}. 5 shining object (BHEHE|= S5): %!
9] £20| QU= EHOICE 6 remained seated (22 ZHZ RJUUCH: seat2] Tt
J{EA} seated?} remained?] 2= M1 Zdo|Ct,

0°=" i n

ol
=

¢| o] 7(4;(—]0] 5]04_0_ EHJ: 1o ]oh:]. LH H % WFHPAE]

A ek U= shsolA Wy EES uiekEy
b A A7 ot szl vzl E47F vrebuba] 3
L7y Sk e B2 ok grob Qo mhy)
& 3712 Pt

~

2 ohg
282 4
=4} glot §

-1N r}d rlr

SES
Fefiet

T —_— \
! A 1 disappointed 2 located 3 rolling |

4 pleased/annoyed

B 1 It was such a boring movie
2 What an exciting game it will be
3 She looks frightened

C 1 |need adevice sending a message into space.
2 The people questioned favored the proposal.
3 She was embarrassed when everybody ignored
her.

D » Example answers
The most frightening moment in my life was when |
thought | saw a ghost. | was really shocked to see
a shadow moving outside the window. When |
found that it was a man who was cleaning the
window, | finally got relieved. I

ailA » 1 £ZE 2Z0ICE be disappointed with ~ ~0f| AUSICH 2 The
hotel (which is) located on the hill (A= ${0il U= SE): TAHEAZL FHollM
QU4o| 0jFE £AlGHE FR20[Ct Ot k| o7t TIFHEAL AtOJoi TEEAH|
HHAL+ beSAL7E MEFEl Zdo2 & 4 ok 3 roling stone (F2& E):
ZIgo| S20| Q= HBOICL 4 SIXHEAHE ARRIOILE AM20| S5X - XA
OZ of Z™S 2ozl mf £rt MAHRAE A0 £EHo2 ofd 2y

2 Z o 20t 7 28 B3 LA B 20|22 oA 2ot

4 1 U 1 A Tfet Ue) uhgo] Agaeh 2 A Slo]
ol 7 mEle 42 teithugit 3 FEE Eollt o))t 71X
et 2 I 18 29 92 Zo] ohet esle A9,

(o]

A » 1 boring movie (HESH H3h): EE AlS HESHA Btes Hstat
o|ojo|ct 2 exciting game (E0|ZIZISH AQl): Alst= AR E0|Z71Z
7| Bte= A|ldolgk= 2lojolct 3 looks frightened (A1 S2F Z4%

H 2OICh: #Ttof| ol ~EXo =2 52t Zoj2k= 2|ojo|ct

20 ™A

w o 2

141> 1 A2 1 93} oflo]?
B: g A%a gsislol,
2A: 954k g nleg =9} AR} 4eu A7|2
3.
B: 1A AL AYu]lE Aok
3A: AliceZ} APAUHE ®50] "1 Qo]
B: 791 7 2ok,

ol
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C
sid » 1 AMSE HU=0|22 SIXiEAR £01 2 FES sh= ARES0|
= H o) 7.

Ol HZ2S U2 ARMS0|22 IHEAME 201 3 ggAZflsts A2
122 £SEl(beSAt+ IHEANZ £2C}

fl0
9|

s » frightening 2% 27| ot=, &7 Shi=/be shocked to see ~

(~2 H1 574 o)) Sk T12/see a shadow moving (T2IXP7} 2%
Ol AS =rh): SIXHEAL moving2 see| 2X0{Q! a shadow?| EO{(E2%

7 Ho\)2AM ZIo| £0| QUCt/was cleaning (HI UKACH: J_}717.<_I§3§,/

shining object (BM7{2l= 2A|): TIQ| 5£0| U= EEOICE/got relieved

(Sr=gHC}): AHEAL relieved?t gote] HOH{Z MO1 Zi0|ct,

WAkl 7hg
£ 3 el 38t gHele
of 33l] BE S gk Al 2

0] 4 41900

FAE & S HT

rﬁz ) ,_EL =

mlo

c N\

! A 1 burning 2 singing 3 stopped |

B 1 saw a car come[coming]to a sudden stop
2 heard certain songs repeated
3 watched the spiderman climb|[climbing] the
building
C 1 Can’tyou smell wires melting?

2 | saw the old roof (being) replaced.

D » Example answers
1 smell the apples ripening
2 watch him jump off

i 3 sawagirl (being) kidnapped i

B4 » 12 KIZISAF+ 2HO| + BAHRALS| T2OICE BYZALS Zigto]
ofnjolct. 3 TRIZHSAH+ 2E0f + BHEALS TROICE BHEANE 450
ofnjolct.

a4 » 1 U Helold @7k B WA ottt 2 ofol: e
A S AL selE BTk 2 ASIRHES ZIA7E AR

oJ3f) AAFsH= 2SSt
B
SHE » 1 TRIZSAL+ S M0 + HHRYA/FMEALS] F2S 201 HER

50 | Answer key

HAS 2H0{0f tisf 552 2jnjo|m, BiAEAS Figel ojojoict. 2 x|
ZSAL+ 2RO + TARALS TRS ATk TARALE 45| oojofc,
3 RIZSAL+ 20| + FHLTA/STRALS] 7SS ATk HEYAE

FHo{oll thsh SS2| 2|njo|x, HAXHEAE T2 2lnjo|ct.

M e 1 U A7 AP A AS S 2 e FAEA o
| e WhaEe AS St 3 AES 2folrdio] A

~— u=

B 7lo] et 2E AARTE

C

34 > 1 = 20| ORI =31 Q0D 2 BAEAIR Lot 2 BAE= 2
2 25 x| #9l0|a 2 IIRARR Mt

D

SHE » 1 TX[ZSAH+ =X0] + SRHEALL] FR0|Ch HRHEARE ZIQ| 9
oolet. 3 TXIZSAM+ SHO| + 2AHRALS| TR TXIZESAN+ SO +

being + ZEALS| B2 S Cf 7Hs5ICE
A > 1 U A ol AL olo] Fhe WAE BE 4 glrt,
2t 227} ool mofrfol A ol Wigl= A & Btk 3 W
€ ofd 2u7h dAEHE s 5430,

UNIT 75 EXERCISES
T —_— \

| A 1swallow 2 getting 3 move |

B 1 made us call off the event
2 got the package delivered
3 let me take a day off

C 1 |eft people wondering who Polly was
2 sorry to keep you standing

D » Example answers
1 had 20kg of rice delivered
2 got my cat taken care of
3 had my brother join the fitness club
i 4 got my clothes picked up from the dry-cleaner’s |

S > 1 TAIRISAb+ SH0| + RFRHAL| 220l FHRHAE 2
Ofol chsll SSOI Qlojolct, 2 XIZISAH+ SH0| + SKfRALS| TROIC
BUYZALS SEofol chsf 2ol lOjoICt. 3 TAISISA+ 20| + U
HALel TR0ICt HESHAS 250jo| s S50 2Jojolck, ket the car
passE "AISIS A+ 20| + FFRHALO| FRO|ct
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o
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ZeWhe AE = 3 RS A AWwes 215 HAAA
At

A » 1 cause + SHH + toF™A = make + SX0] + HSHEHAL
2 persuade someone to ~ =72 ~SIEE Al7|CHASSICH get the
package delivered F2{0|2 HIZAIZICt 3 allow me to ~ {7} ~3I==

S{2IBICE, let + me + RHFPHAR LI ~SH=S (512))siCt

aiiAd > 1 GR7F L i fALE FAF 2 e He e

AT 30 AR el S f7HE sl
C

SHA » 1 sorry to ~ ~alilA FZOICH 2 keep + XN + SRHEAL SHN
£ A& ~oAl st

D

SHA » 1 AKESAL haves ‘~St== Al7|CHe| o|0|2 X|AILt H™HQ| ojn|7t
QUCt 2 get2 ‘~alA| BHECH MESICES] 2|0|2 makelt persuade| 2|0
7t ULk 3 AHSAt haves ‘~3l=E Al7|CHe] 2|0|2 X|A|LE HEel oo|
7} QUCt. 4 tell someone to ~ ~SIEE USICH~SI| S

S > 1 L 4 20229 WBAAT 2 U | gl

wAb 9ehm Ak 8 U W] BAS Sl Jhelskl sk
4 b= Aol o £-2 SoloA sk

(

A 1 mAztol 7HH |

2 22 g 47} gloiN

B 1 Seeing herface
2 Really missing him
3 Being sorry to see her
4 Waiting for a while

C 1 Finishing up the reading, he went to sleep.
2 Feeling too excited, | couldn’t get a wink of
sleep.
3 Using it properly, you’ll make good coffee with a
Moka pot.

D » Example answers
1 Being too late for class

i 2 |eaving her wallet at home i

A

SHA » 1 ZZQ| EAME0|Ct Making it in time, you ~. = If you make it
in time, you ~, 2 0|22 EAILZ0|Ct, Being unable to speak, she ~, =
As she is unable to speak, she ~.

aiiad » 1 AlRbell SH] 7P WS uled S glol. 2%
glolA] i ol $lo] Heka A9l

B

SHA > 1 RARHO| TAAIY FOIS MRS SAIS RAR HIRCE 3,
When I£ M2kt sawE Seeing@ 2 HILO| 250 S=Ct 2 As | M2k

missed — missing 3 Since he M2k was — Being 4 If you M2k wait —

tlo
et

7t

Waiting

A e 1 99 dEE AL de Xes e e 0tk 24
< A 25 IFHI] digel 19 olFel duErtt sk &
ok 8 e 29 E He Ao] vk uehgA] okt 4 3
Al 71T dEe = 5 S 710k

C

a4 » 1 Finishing up the reading, = After he finished up the reading,
2 Feeling too excited, = As | felt too excited, 3 Using it properly, = If
you use it properly,

D

3l » 1 Being too late for class, he can't get into the classroom. — As
he is too late for class, he can't get into the classroom. 2 Leaving her
wallet at home, she can't pay the taxi fare. = As she left her wallet at
home, she can't pay the taxi fare.

141 > 1 4:¢00] U S917] whitel] T WAl Sol7b Skt
2 A7 ol T b4 Tt 9A] 23S 3 4 gk

P
| A 1 HEE SHE BHA |
2 £& Sol0Ll/2% SodM=
3 Algo =z o] SoiRiTt
4 o s REMHA
B 1 killing many birds

2 playing poker.
3 Approaching me

C 1 He stood there smiling at us
2 Mike did his homework listening to the radio
3 Stepping out of the front door

Answerkey | 51



D » Example answers
1 Eating lunch

i 2 Watching the basketball game i

S » 1 SAl S 2AFE0ICh 2 ¢4 SEe| 2AME0|ct
3 come, go, run St 20| M0|= BAITPER SAISES LIEHHCE 4 &

Al SEQ| ZALEO|CE

¥ SRg Bed 2k HENss eyt 2 1y

22 Soloht H2E Fuclu BB HAL

29j0] B 5 SIS L Ao Fof Solgitt 4 gkt o
= Hg

s » 1 and kiled — kiling (H&S%h) 2 while they were playing —
playing (SAISZE) 3 F 71| S andZ 0|20{XI EX0|22 H 5HLE
FBATEC R HHH AL FSES LIEH = 2AEE0] ECh

dep v g2 Aol 3ok 249 ¢

Al » 1 250 YRE
FEAS s ok 3 8 9t Lkl ke

A7} e glo

SRR RS

(@)

sH& » 1 stand, sit2t Z0| M0 EATE2 SAISES LIEHHLL 2 SAIS
3 AR}
o

ol

ikl

& » 1~2 SAISEL| A E

2 JYe 575 2

R ———— \
I A 1 left 2 Lost 3 knowing |
B 1 (Since) Not having any sisters
2 (When being) Threatened by hijackers
3 (After) Having worked for 30 years

C 1 Not feeling satisfied, he rewrote the manuscript.
2 (Being) Aware of danger, we escaped from the
place.

52 | Answer key

D » Example answers
1) Having to go out 2) When getting back home
i 3) Being so angry 4) not caring about his feelings |

54 » 1 dishes E SR Y0|E2 5 BAE UEHh= 2HEADL
|ojof BiCE 2 AZtofl EZ” RO0IEE 5 2AE LiEtl= HAEADE &
ofof st 3 M-_r‘—‘?——l 2EE 2A HEZ ol notO|Lt neverE £2ICk
Not knowing, = As he didn't kno

5141 > 1 RAI50] BolAE e A o]F ek Aarle] 9ol
2 7= Aol WAA Wb & W £4) RHTh 3 2k ofr®
7hok 8| Bebq 19] AolA| Hehe ek

B
A » 1 EAMTEO BFEHES EAF HIZ 0l noto|Lt neverE 29QICt
[E

[0 DAZALY, HEAIZ AlREl= RAL

2 beingO|Lt, having been2 A2tg|
?DO OIS 4 QU oluf BpRAL] B2 FHO| Fojet +8 EAoICL

3 Zo] AL BAFRES| AlHJL A HS A=EATES At ojp|
S oistopl 571 Sieh AN Aer ARSI 22m ke EARE 2ol
2290t

Ay 1 U= A7) glolA olSx™ 7Yk 2 o] A= YA
oA 9IS FokA €71 AR 3 I 30W-S Yokal LA
2-E]o]| )| Ayt

C

atiAd » 1 AR B2 2AFHIZ ol notO|Lt neverS 292ICt 2
AFE2| being M2F5I0] TIHSAILE HEALR A|EHSE 4 QICt

I

34 » 1) Having to go out, ~ = As | had to go out, ~ 2) When getting
back home, ~ = When | got back home, ~ 3) Being so angry ~, = As
| was so angry, ~ 4) ~, not caring about his feelings = and | didn’t
care about his feelings

41 » |5 Ao Uh W WEAIET 2ol Udieh AR el
b fcy ojgde] 48 § btk ete
LH= Ubok 7] oo Tonyol Al $2] shy S4& Exetn
Erck ol Bolhg o, U Timmyzt AAE Rt wxs
G A A9k U 7 37 A TonyolA| el Wsick
Tony7h 4% A58 SR, e 9] 2HE AR g
% 32 uldch A e aglo] A wleksh mARA] o
A bkt Al



C}, 2 O|RE LIElE EAMECRZ £ ULt There being certain
UNIT 79 EXERCISES difficulty, ~ = As[Since] there are certain dn‘flculty ~ 83 BAIRZR9| =0

(a1 olaying 2 given 3 tuned off 4 living N | ot Fmel Folot o o o0l FoIS BAF 9] BEr) BARRe) %ol
His ribs2t FX9| F0{ judo playerZt CH2 Zd0f| Z=olstct 2|11 ribse
B 1 With his head buried SXO=Z H{X|= M0|22 ribs CHROE IHHEAL brokenS £Ct His
2 There being no customers ribs broken, ~ = As[Since] his ribs were broken, ~
3 Considering his health 5

C 1 With no one watching, the suspect escaped from
8 p p 14 » 1 with her arms folded 49| TS 71 2 2 with a dog

the lockup. following 7HE Fl2 A st
2 There being certain difficulty, we won’t be able
to go there. Al v 1 s TS 73 ARRE A%l 2 Ade JRE g vt
3 His ribs broken, the judo player had to give up g Hu2 A sk AHAE g
the match.
D » Example answers
1 with her arms folded
| 2 With a dog following i EXERCISES
N — J/ e ~
| A 1 suggest 2 that 3 be 4 about 5 Why |
A B 1 My idea is that you should break the habit.

S04 > 1 Twith + 20| + SAITLE S SAJ0f AHFEl= AMBHS TS O M 2 My suggestion is that we fly business class.
M (~0l) -3t M2, (~0|) -5IHA' 52| ojn|= 7}7: Ct ~ with you playing 3 My doctor’s recommendation is that | have an
the piano U7t TOK=E X1 U= H&oM= 2 2AES T017+ =4 operation.

of 02t CHE M Q0|4 FOE BAF Aol E=Ch EATES :0
explanationz} Z£&9| F0{ the situation0| CHE Zd0f| FI8tct, 3 "with+ =
H0{ + EAITR,0] FEf= withe] SX0{7} 2AIRR0| ojoj4 Zojo| &gt

C 1 How about putting off the meeting?
2 My suggestion is that you talk to your parents.

2 SICL the lights7t turned offe] 2|04 =0{0|Ct 4 BAMES| 07t F D » Example answers
Zo| 0ot TS mf ool OIS 2AH 20l E=H BATES] 01 Al 1 My recommendation is that you listen to and

my friends@t FEO| F0f 17} CHE 20l FLIFICh All my friends living

abroad, ~ = As all my friends are living abroad, ~

speak English every day.
2 How about making friends with native speakers?
3 I suggest (that) you not be afraid of English. i

Al » 1 U U7k Sloke s A3 QlojA] AE ¢S 47F gldith \
2 ' AYS €A ¥ A g ARy 3 2ol A e 7
A QloAl U= obRAE & 4 glolth 4 Y AFES BE o=
o A7) Wl LHe EHY 52 1A Rtk A
s » 1 AFollA LojLt= thstolch BAIE 22| thE0] 252 EE
B 2|§ AJlsts AO0I2E ARE)Q MRS A FHE AUX| 2= Ao
A » 1 SA| AES LIEHE "with + 2X0] + EAFRE2,29| HEH 2 There =obsich 2 My idea is that ~ L A2+ ~5kt= Zo|Ct 3 propose CH
being no customers, ~ = Since there were no customers, ~ 3 EAt7 S0l BAIES 0|11= TSAL thatO| M2FE|QICE proposeZt ‘~5HAFELT H|
20| oln|4 F=0{7} gt AHHRI0]01 A AM2EsH 2ALZ0ICE Considering, Ot5tE oloj2 MU AR 2X0{Ql thatZollAs FRSAE MOICt w2t
~ ~2 THEIH, ~S Z0ot5HH we be more careful0| E/0{0F St 4 How about ~? ~& OEL? (=
What about ~?/What do you say to ~7?) How about ~? C}20{l= HAML}
A » 1 1= F 20 8 wEE 78 A A A7) ekt 2 & SHAPE 2L 5 Why don't you ~? ~&h= 20| Ofith?/~35tX| 12H./~3t
=°] §lofA Sele 94 £ ettt 3 19 A%E arefstd xt.
o

sAlp 1 AL A AR?
B: 950 ¥ gali ojo] Ago|Teur)

Moy 1 SA| AEES LIEHKES with + 2X0] + 2AFLE,0| SES AIRSH 2 Y| AYZre YAl v]-8-S Zeof st Aok,

o= =

Answerkey | §3



3 U= 227k 8 AFsHA sHARAL Aljtsk= 7ok
4 g3} 12 7k A ofuf?
5 Z1of|A| MetebA] T 17 7 ek dlE),

a4 » 1 My idea is that ~ LH Mzt ~3IXt= Z40|CH 2 | suggest (that)
~ = My suggestion is that ~ 3 My doctor recommends that ~ = My
doctor’'s recommendation is that ~

b1 L U7 2 53 Aok stk Az, 2 Ui 27t
I5A R F71E AQkith 8 W B oAb L] S
oetm Agtch

(@]

A » 1 ~5h= Al ofmf?: How about ~ing? = Why don't you + SAF
&7 2 W Mot ~3taks 20|tk My suggestion is that ~

D

s » 1 W FH2 ~dl2ks Zolck My recommendation is that ~
2 ~sh= 4 ofHL?: How about ~ing?/~2t AtHEE make friends with ~
3 LtE U7t ~2 FEQYSHK| L2t MOFstTE: | suggest (that) you not be
afraid of ~ ‘HIQtEICH = 550| | suggest (that) ~OllAM= thatEel SAIS 2

Hoz M Z0f Fofsict

=

7 TEST 10 UNIT 72~80

, N\
| A 1faling 2 placed 3 attacked |
4 grow 5 Having

B 1 We sat watching TV
2 With answers not known
3 Taking seats in the front row

C 1 reading 2 flying 3 finished
4 embarrassing

D 1 swung—swinging
2 thinking — think
3 using — used
4 RS

5 reconsidered — reconsider

E 1 Opening the box, | found a lovely brownie doll.
2 Two men started to fight, making everyone leave
the restaurant.
3 I tried to lie flat and let my arms stretch out.
4 | heard my favorite vase shatter/shattering into
pieces.

B4 | Answer key

F 1 hidden 2 sinking 3 wrapped 4 buried

G 1) recommend (that) Mijung (should) be our class
president 2) making our team win the championship

i 3) My idea is that we need strong leadership now
\ J

A

54 » 1 falling rain: Li2|= H| 2 The object placed on the shelf: A1t 2
ol Q1 27 3 "X[ZSAt+ SH0] + 2tHEAL2| FL20ICt an Htalian ship
attacked by pirates: &0l 2lsf S2Est O[E2|0f MEf 4 AtHSAL
made?| EME0{E MOl SAt= HASAIKO0F SIEE grows S| 421 A
O|Ct. 5 O|RE LIEI= EAMFESZ HEHELE Having to write a report, ~
= As | have to write a report,

s41 > 1 U o]8 Yehe ulS wor Fu 2E Aok 2 A 9]
of 91 70| elAgh 3 15e auelo} o4 5] ola) 2
At olgelol Auhe BokTh 4 s 1 AIRS g ke
AR 5 IS Nk W] uhie] Lk IEYS Bt 4
wE Sy

B

sH& » 1 sitet 87 M2 AR E2 SAISEE LEHHCE We sat
watching TV: R2l= TVE EH 0t UAACE 2 withet J7H 401 ZAIFE
2 '~0l ;{Z'9| o|0|Z LIEHMHCE, With answers not known: 2= 22& &
2 3 dXE o] EAFLE0IC) Taking seats in the front row, | called Jim
to come inside. = | took seats in the front row and | called Jim to come
inside,

41> 1 U7k T 2] Lhghe u) el TVE 1uf glop glgle]
2 g% mEL A Sl 1 BASS Fiekn AL o
3 U 9ol el Fa JimolA ol eeku Bk

C

1A » 1 reading the article 7|AtS H2MHA 2 came flying into my room
L gto 2 Hol E0QUATH 3 to get this project finished 0] ZHHIE ZLH7| ¢
A 4 It ~ to -2] 7IF01- TIF0| FLZ20|Ck It was embarrassing to see

~ ~B B 20| SEARSI

=

A v 1 T 7IAE HoRA oSS EARTE 2 SRk Af g
np)7h of oz dol Sojgith 3 fl= o] IAIE & Bl
SJallA] of2sar Qlel. 4 7k FEsHA = A By gkl

.

D

S » 1 ‘CHI7t E52IH 2o UACHIL OtL2H ‘THIE EEH ot UR
CF7} RAIHARE 2 swingingO| E|0{0F BiCE 2 AFHEAIS| 2MEHN= §
HSAPL 2lofof Stk 3 phone AHEEl= CHMO0|2 2 used7t El0fof &t
Ch 4 02|12 FZ Hsl= Fil= she0|22 HIHEA bendingS 2 Z0|
aith SAISEE UEtlE 2AHE20ICE Bending her head backward,



she tried to relax. = While she was bending her head backward, she
tried to relax. 5 AfHSAt had2| SHE0= FFSAPI |00k Sk

i e 1 e telE &5 WX 4 oFok Atk 2 A7F 1

<= wwol el & o A & #4837 ¥ ed Wl A
SPI7F 7R 4 Jve HElE AR A A e Al
3tk 5 1L AR wieofl Sl -2t 3 A v Al
e

pas)

E

aiA » 1 ZZ( found a lovely brownie dol)Zt £AFE(When | opened the
box)2| 017t 222 EAES BATESE HHE 4= Qo BAMES
EA Whent 0] I M2kt SA openedE SIAHEAL opening2 2 Ht
#ct 2 and madeE making@ 2 HHRH 2A20| =k 3 allowed my
arms to stretch outS let my arms stretch out2 2 HHELE, let2 AFESALO|
82 EXH0{7} to stretch out0] Ob=l RSISA} stretch out0| E|0{0F Strt.
4 heard?| 2X0{Z my favorite vaseZ HIRH "X|[ZHSAH+ 2X0] + &S
SAY/SIHEALS] 20| EIo}, w2t shattered7t shatter T shattering
OF HH= Aol Felstct,

B > 1S ot Flofe Beksy A Aol e,
2 % Pt 4SS AR BE ARt Mg Ut ugi
3 b vhetol W 914 e woeln Pt 4 b
7 Fotshi o] A4bazt b AelE Sl

F

ai1&! » 1 hidden treasure &74%1 E& 2 a sinking ship 7t2I%11 U= Hi
3 The box wrapped in red paper 7t Z0|2 ZZE Xt 4 0[RS LIEt
L= EAF20|CE The letter buried under a pile of papers, she couldn’t
~, = As the letter buried under a pile of papers, she couldn’t ~, EX|7}
MF ool THE237| 20 14H=E ~5 g % iUCL

o
~

o i B
WY, ¥0,

A 1 252 A% BES 3 9oy 2 AR 7heket
= S wu v Albo3int 3 Wit FolE EAIE AR
Eolth 4 AL A7 tulef hEF7] gl 19 A
o A 04041:].
=2 T BAAT.

G

siA » 1) ZUFO|IER ‘FHECHE Yt ‘0|0 Ltee Z0| %t
recommend?| SX0{Z M2l thatEo| SAk= should + HHSAL E=
shouldE Afekst 2ASHEAZ} E|0foF SICE 2) making our team win the
championship= and made our team win the championship@ 2 H}Y £
2= lCt 3) My idea is that ~ ~2H= Zd0] Lif AiZto|ct

5141 » L mlAol7k 2] uh wbabo] slojof Stk Fghch
nlgols Ay h7le] 92 Elu Fotel sjgos Agis Sl
Y2 9502 o|ZYaUrh oAl Selel Al 4 sl wa
shhiz 2ol 4] AVZlUEh wlgo] 2he ARhe B3] 1 4L A

= @ Ay
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